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                      历年真题

2002年同等学力人员申请硕士学位

外国语水平全国统一考试

Paper One  试卷一

(90 minutes)

Part I Listening Comprehension (20 minutes, 15 points) （略）

Part II Vocabulary (15 minutes, 15 points)
Section A
Directions: In this section there are fifteen sentences , each with one word or phrase underlined . Choose the one from the four choices marked A, B, C and D that best keeps the meaning of the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center.
16. I’d like to take this opportunity to extend my heart-felt gratitude to the host . 
   A. increase 

B. prolong 

C. intensify 

D. express
17. Chinese farmers are mostly living a simple and thrifty life as it is today.
   A. miserable

B. economical 
C. luxurious 

D. sensible
18. Many of the local residents left homes to ward off the danger of flooding. 
   A. overcome 

B. enclose 

C. encounter 

D. avoid 
19. The State Council will lay down new rules that aim to make management compatible with internationally accepted conventions.
   A. conferences 

B. conversations 
C. practices
 
D. formations
20. Personality in Americans is further complicated by successive waves of immigration from various countries.
   A. uninterrupted 
B. successful 

C. forceful 

D. overwhelming
21. Without question, people’s lives in China have improved dramatically in the past two decades.
   A. Out of the question  


B. No doubt 
C. Naturally 




D. Obviously
22. The dean can’t see you at the moment. He is addressing the first-year students in the lecture hall.
   A. complaining to 
B. arguing with 
C. speaking to 
D. consulting with
23.He does nothing that violates the interests of the collective.
   A. runs for 

B. runs against 
C. runs over 

D. runs into
24. As a result of sophisticated technologies, this device has several advantages over like products.
   A. traditional 

B. intelligent 

C. industrious 
D. advanced 
25. The patient’s condition has deteriorated since he had a heart attack.
   A. improved a little 


B. remained the same
   C. become worse 


D. changed a lot
26. When taken in large quantities some drugs can cause permanent brain damage.
   A. lasting 


B. serious 

C. terrible 

D. temporary
27. One U.S. dollar is comparable to 131 Japanese yen according to China Daily’s finance news report yesterday.
   A. compatible 

B. compact 

C. equal 


D. entitled 
28. At that time work was restricted to slaves and to those few poor citizens who couldn’t support themselves. 
   A. attributed 

B. limited 

C. connected 

D. devoted
29. I found this very profitable in diminishing the intensity of narrow-minded prejudice.
   A. lessening 

B. reflecting 

C. removing 

D. increasing
30. When a man knows that he will be put into prison if he uses a potentially deadly object to rob or do harm to another person, he will think twice about it .
   A. passive 

B. lifelong 

C. unhappy 

D. fatal

Section B
Directions: In this section, there are fifteen incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center. 
31. This great project at the Three Gorges of the Yangtze is expected to _______ twenty years to complete.
   A. spend 


B. consume 

C. need 


D. take
32. His effort of decades began to _______ . He came to be well-known for his findings.
   A. pay off 

B. die off 

C. put off 

D. break off 
33. The _______ of lung cancer is particularly high among long-term heavy smokers，especially chain smokers.
   A. incident 

B. accident 

C. incidence 

D. evidence
34. Nothing is so uncertain as the fashion market where one style _______ over another before being replaced.
   A. dominates 

B. manipulates 
C. overwhelms 
D. prevails 
35. Mrs. Brown couldn’t shake the _______ the these kids were in deep trouble and it was up to her to help them.
   A. conversion 

B. conviction 

C. conservation 
D. convention
36. X-rays are also called Rontgen rays _______ the discoverer who first put them to use.
   A. in case of 

B. in view of 

C. in place of 

D. in honor of 
37. Telecommunication developments have enabled people to send messages _______ television , radio and electronic mail.
   A. via 


B. amid 


C. past 


D. across
38. Technology has _______ the sharing, storage and delivery of information , thus making more information available to more people.
   A. finished 

B. furnished 

C. functioned 

D. facilitated
39. The philosophy class began with twenty students but three _______ after the midterm exam.
   A. picked up
 
B. turned out 

C. dropped out 
D. kept up 
40. The following account by the author _______ the difference between European and American reactions.
   A. illustrates 

B. acquires 

C. demands 

D. deletes
41. An intimate and _______ knowledge of how you are doing in the customer’s eyes is critical.
   A. objective 

B. subordinate 
C. optional 

D. subsequent
42. Long _______ to harmful pollutants is most likely to lead to a decline in health.
   A. contact 

B. touch 


C. use 


D. exposure 
43. The architectural differences may _______ confusion or discomfort for the foreign travelers.
   A. vary 


B. describe 

C. cause 


D. impress
44. _______ being fun and good exercise, swimming is a very useful skill.
   A. Rather than 

B. Apart from 
C. Instead of 

D. Owing to 
45. Even at discounted prices, these powerful AIDS drugs are far beyond _______ for most of the world’s 40 million HIV-infected people.
   A. reach 


B. control 

C. comprehension 
D. imagination

Part III Reading Comprehension (40 minutes ,25 points)
Directions: There are five passages in this part. Each passage is followed by five questions or unfinished statements. For each of them there are four choices marked A, B, C and D. Choose the best one and mark the corresponding letter on the ANSWER SHEET with a single line through the center.

Passage 1
    John Grisham was born on February 2, 1955, in Jonesboro, Arkansas, in the USA. His father was a construction worker and moved his family all around the southern states of America, stopping wherever he could find work. Eventually they settled in Mississippi. Graduating from law school in 1981, Grisham practiced law for nearly a decade in Southaven, specializing in criminal defense and personal injury litigation (诉讼). In 1983, he was elected to the state House of Representatives and served until 1990.
    One day at the Dessoto County courthouse, Grisham heard the horrifying testimony of a 12-year-old rape victim. He decided to write a novel exploring what would have happened if the girl’s father had murdered her attackers. He proceeded to get up every morning at 5 a.m. to work on the novel, called A Time to Kill, which was published in 1988. Grisham’s next novel, The Firm, was one of the biggest hits of 1991, spending 47 weeks on The New York Times bestseller list. Grisham lives with his wife and two children, dividing their time between their Victorian home on a 67 acre farm in Mississippi and a 204 acre plantation near Charlottesville, Virginia. 
    When he’s not writing, Grisham devotes time to charitable causes, including mission trips with his church group. As a child he dreamt of becoming a professional baseball player, and now serves as the local Little League commissioner. He has built six ballfields on his property and hosts children from 26Little League teams.

46. John Grisham is ________ at present.
   A. a writer 





B. a lawyer
   C. a professional baseball player 

D. a congressman
47. What inspired Grisham to write his first novel?
   A. A case of murder.
   B. A case of rape
   C. His father’s experience
   D. His life on the farm
48. The story of the novel A Time to Kill would probably focus on __________ ?
   A. how the girl was attacked
   B. the circumstances of the rape 
   C. how the girl’s father took revenge
   D. how the case of rape was settled
49. Which of the following is NOT true of the novel The Firm ?
   A. It was popular at the time of publication
   B. It earned Grisham great fame.
   C. It brought Grisham wealth
   D. It was carried by The New York Times as a series.
50. It can be inferred from the passage that Grisham has built ballfields on his property ________.
   A. to achieve his life’s goal as a professional baseball player
   B. to coach children in baseball 
   C. to see his childhood dream being realized in the children
   D. to provide facilities of baseball training.

Passage 2
    A quality education is the ultimate liberator. It can free people from poverty, giving them the power to greatly improve their lives and take a productive place in society. It can also free communities and countries, allowing them to leap forward into periods of wealth and social unity that otherwise would not be possible.
    For this reason, the international community has committed itself to getting all the world’s children into primary school by 2015, a commitment known as Education for All.
    Can education for all be achieved by 2015? The answer is definitely “yes,” although it is a difficult task. If we know measure the goal in terms of children successfully completing a minimum of five years of primary school, instead of just enrolling for classes, which used to be the measuring stick for education, then the challenge becomes even more difficult. Only 32 countries were formerly believed to be at risk of not achieving education for all on the basis of enrollment rates. The number rises to 88 if completion rates are used as the criterion.
    Still, the goal is achievable with the right policies and the right support from the international community. 59 of the 88 countries at risk can reach universal primary completion by 2015 if they bring the efficiency and quality of their education systems into line with standards observed in higher-performing systems. They also need significant increases in external financing and technical support. The 29 countries lagging farthest behind will not reach the goal without unprecedented rates of progress. But this is attainable with creative solution, including use of information technologies, flexible and targeted foreign aid, and fewer people living in poverty.
    A key lesson of experience about what makes development effective is that a country’s capacity to use aid well depends heavily on its policies, institutions and management. Where a country scores well on these criteria, foreign assistance can be highly effective.

51. In the first paragraph, the author suggests that a quality education can __________ .
   A. free countries from foreign rules
   B. speed up social progress
   C. give people freedom 
   D. liberate people from any exploitation
52. Ideally, the goal of the program of Education for All is to ______ by 2015. 
   A. get all the world’s children to complete primary school
   B. enroll all the world’s children into primary school
   C. give quality education to people of 88 countries
   D. support those committed to transforming their education systems
53. _________ countries are now at risk of not achieving education for all on the basis of completion rates.
   A. 32     
B. 59 

C. 29 

D. 88
54. According to the passage, which of the following is NOT mentioned as the right policy?
   A. Raising the efficiency of education systems.
   B. Improving the quality of education.
   C. Using information technologies.
   D. Building more primary school.
55. As can be gathered from the last paragraph, foreign aid _________ .
   A. may not be highly effective
   B. is provided only when some criteria are met
   C. alone makes development possible
   D. is most effective for those countries lagging farthest behind

Passage 3
    Most people think of lions as strictly African beasts, but only because they’re been killed off almost everywhere else. Ten thousand years ago lions spanned vast sections of the globe. Now lions hold only a small fraction of their former habitat, and Asiatic lions, a subspecies that spit from African lions perhaps 100,000 years ago, hang on to an almost impossibly small slice of their former territory.
    India is the proud steward of these 300 or so lions, which live primarily in a 560-square-mile sanctuary (保护区) . It took me a year and a half to get a permit to explore the entire Gir Forest---and no time at all to see why these lions became symbols of royalty and greatness. A tiger will hide in the forest unseen, but a lion stands its ground, curious and unafraid---lionhearted. Though they told me in subtle ways when I got too close, Gir’s lions allowed me unique glimpses into their lives during my three months in the forest. It’s odd to think that they are threatened by extinction; Gir has as many lions as it can hold----too many, in fact. With territory in short supply, lions move about near the boundary of the forest and even leave it altogether, often clashing with people. That’s one reason India is creating a second sanctuary. There are other pressing reasons: outbreaks of disease or natural disasters. In 1994 a serious disease killed more than a third of Africa’s Serengeti lions----a thousand animals----a fate that could easily happen to Gir’s cats. These lions are especially vulnerable to disease because they descend from as few as a dozen individuals. “If you do a DNA test, Asiatic lions actually look like identical twins,” says Stephen O’Brien, a geneticist (基因学家) who has studied them. Yet the dangers are hidden, and you wouldn’t suspect them by watching these lords of the forest. The lions display vitality, and no small measure of charm.
    Though the gentle intimacy of play vanishes when it’s time to eat, meals in Gir are not necessarily frantic affairs. For a mother and her baby lion sharing a deer, or a young male eating an antelope (羚羊), there’s no need to fight for a cut of the kill. The animals they hunt for food are generally smaller in Gir than those in Africa, and hunting groups tend to be smaller as well.

56. In the first paragraph, the author tells us that Asiatic lions ______ .
   A. have killed off other lions 
   B. have descended from African lions 
   C. used to span vast sections of the globe
   D. have lost their habitat
57. What impressed the author most when he went to watch the lions in the Gir Forest? 
   A. Their friendliness.
   B. Their size.
   C. Their intimacy.
   D. Their vitality 
58. What does the sentence “…meals in Gir are not necessarily frantic affair” mean?
   A. The lions do not show intimacy among them any more.
   B. The lions may not deed to fight for food.
   C. Food is not readily available in that region.
   D. Meals can be obtained only with great effort
59. The lions in the Gir Forest are especially vulnerable to disease because ______ .
   A. they have descended from a dozen or so ancestors 
   B. they are smaller than the African lions
   C. they do not have enough to eat
   D. they are physically weaker than the African lions
60. One of the reasons why India is creating a secondary sanctuary for the Asiatic lions is that ___
   A. the present sanctuary is not large enough
   B. scientists want to do more research on them 
   C. they have killed many people 
   D. the forest is shrinking in size 

Passage 4
    After retirement from medical, my wife and I built our home in a gated community surrounded by yacht clubs and golf courses on Hilton Head Island. But when I left for the other side of the island, I was traveling on unpaved roads lined with leaky cottages. The “lifestyle” of many of the native islanders stood in shocking contrast to my comfortable existence.
    By talking to the local folks, I discovered that the vast majority of the maids, gardeners, waitresses and construction workers who make this island work had little or no access to medical care. It seemed outrageous to me. I wondered why someone didn’t do something about that. Then my father’s words, which he had asked his children daily when they were young, rang in my head again: “What did you do for someone today?”
    Even though my father had died several years before, I guess I still didn’t want to disappoint him. So I started working on a solution. The island was full of retired doctors. If I could persuade them to spend a few hours a week volunteering their services, we could provide free primary health care to those so desperately in need of it. Most of the doctors I approached liked the idea, so long as they could be relicensed without troubles. It took one year and plenty of persistence, but I was able to persuade the state legislators to create a special license for doctors volunteering in not-for-profit clinics.
    The town donated land, local residents contributed office and medical equipment and some of the potential patients volunteered their weekends ornamenting the building that would become the clinic. We named it volunteers in Medicine and we opened its doors in 1994, fully staffed by retired physicians, nurses and dentists as well as nearly 150 nonprofessional volunteers. That year we had 5,000 patient visits; last year we had 16,000.
    Somehow word of what we were doing got around. Soon we were receiving phone calls from retired physicians all over the country, asking for help in starting VIM clinics in their communities. We did the best we could----there are now 15 other clinics operating----but we couldn’t keep up with the need. Yet last month I think my father’s words found their way up north, to McNeil Consumer Healthcare, the maker of Tylenol (泰诺：一种感冒药). A major grant from McNeil will allow us to respond to these requests and help establish other free clinics in communities around the country.

61. What is the passage mainly about?
   A. The contrast between the rich and the poor on an island.
   B. The story of a man who likes to give others advice.
   C. The life and work of a great father.
   D. The inspiration of a father’s words
62. The author of the passage is ________.
   A. a retired physician
   B. a retired teacher 
   C. a retired medical researcher
   D. a retired construction worker
63. The purpose of Volunteers in Medicine is to ________.
   A. help retired medical workers improve their incomes
   B. provide free medical services to those who need them
   C. urge the government to set up non-profit clinics
   D. make the dream of the author’s father come true
64. Which of the following has been done by the author himself?
   A. Buying the medical equipment
   B. Finding the land and the office.
   C. Decorating the building that would become the clinic.
   D. Getting a special license for the retired doctors.''''
65.In the last paragraph, “I think my father’s words found their way up north to McNeil” implies that ______.
   A. my father’s words finally reached McNeil
   B. McNeil decided to do something for the needy people
   C. My father decided to assist us in opening more clinics in the north
   D. McNeil community was badly in need of free health care programs

Passage 5
    Even before Historian Joseph Ellis became a best-selling author, he was famous for his vivid lectures. In his popular courses at Mount Holyoke College in Massachusetts, he would often make classroom discussion lively by describing his own combat experience in Vietnam. But as Ellis’s reputation grew-his books on the Founding Fathers have won both the prestigious National Book Award and the Pulitzer Prize ——the history professor began to entertain local and national reporters with his memories of war. Last year, after The Boston Globe carried accounts of Ellis’s experience in the Vietnam war, someone who knew the truth about Ellis dropped a dime(揭发) . Last week The Boston Globe revealed that Ellis, famous for explaining the nation’s history, had some explaining to do about his own past.
    “Even in the best of lives, mistakes are made,” said a wretched Ellis . It turned out that while the distinguished historian had served in the Army, he’d spent his war years not in the jungles of Southeast Asia , but teaching history at West Point(西点军校). He’d also overstated his role in the antiwar movement and even his high-school athletic records. His admission shocked colleagues, fellow historians and students who wondered why someone so accomplished would beautify his past. But it seems that success and truthfulness don’t always go hand in hand. Even among the distinguished achievers, security experts say, one in ten is deceiving—indulging in everything from empty boasting to more serious offenses such as plagiarism(剽窃), fictionalizing military records, making up false academic certificates or worse . And, oddly, prominent people who beautify the past often do so once they’re famous, says Ernest Brod of Kroll Associates, which has conducted thousands of background checks. Says Brod: “It’s not like they use these lies to climb the ladder.”
    Then what makes them do it? Psychologists say some people succeed, at least in part, because they are uniquely adjusted to the expectations of others. And no matter how well-known, those people can be haunted by a sense of their own shortcomings. “From outside, these people look anything but fragile,” says Dennis Shulman, a New York psychoanalyst. “But inside, they feel hollow, empty.”

66. Which of the following is true about Ellis?
   A. He is a famous professor of history at West Point. 
   B. His book on the Vietnam war has won two important prizes.
   C. He has told both students and reporters about his own experience of war.
   D. He has written a best-seller for a newspaper —The Boston Globe
67. While Ellis served in the Army , he .
   A. combated in Vietnam
   B. taught at a military school
   C. exaggerated his part as a historian
   D. made mistakes in the antiwar movement
68. What did Ellis lie about?
   A. His war experience in Vietnam.
   B. His athletic records in high school.
   C. His role in the antiwar movement.
   D. All of the above.
69. What does “ to climb the ladder” in the second paragraph mean?
   A. To become more successful.
   B. To inquire into one’s background.
   C. To cover one’s serious offenses.
   D. To go further in beautifying one’s past.
70. According to psychologists, successful people who lie about themselves .
   A. take pride in their weaknesses
   B. feel weak in their hearts 
   C. think nothing of others 
   D. look weak to others

Part IV Cloze (15 minutes , 10 points)
Directions: In this part , there is a passage with twenty blanks . For each blank there are four choices marked A, B, C and D. Choose the best answer for each blank and mark the corresponding letter on your ANSWER SHEET with a single line through the center.
    With 950 million people, India ranks second to China among the most populous countries. But since China 71 a family planning program in 1971, India has been closing the 72. Indians have reduced their birth rate but not nearly 73 the Chinese have. If current growth rates continue, India’s population will 74 China’s around the year 2028  75  about 1.7 billion. Should that happen, it won’t be the 76 of the enlightened women of Kerala, a state in southern India. 77 India as a whole adds almost 20 million people a year, Kerala’s population is virtually 78 . The reason is No mystery: nearly two-thirds of Kerala women practice birth control, 79 about 40% in the entire nation.
    The difference 80 the emphasis put on health programs, 81 birth control, by the state authorities, 82 in 1957 became India’s first elected Communist 83 . And an educational tradition and matrilineal(母系的) customs in parts of Kerala help girls and boys get 84 good schooling. While one in three Indian women is 85 , 90% of those in Kerala can read and write.
Higher literacy rates 86 Family planning. “Unlike our Parents, we know that we can do more for our children if we have 87 of them,” says Laila Cherian, 33, who lives in the Village of Kudamaloor. She has Limited herself 88 three children—one below the national 89 of four. That kind of restraint(抑制；克制)will keep Kerala from putting added 90 on world food supplies.

71. A. discovered 

B. circulated 

C. launched 

D. transmitted
72. A. gap 


B. top 


C. bit 


D. bet
73. A. as many as 

B. as well as 

C. as soon as 

D. as much as 
74. A. shake 


B. pass 


C. rocket 

D. impress
75. A. on 


B. in 


C. at 


D. for
76. A. force 


B. fight 


C. false 


D. fault
77. A. While 


B. Since 


C. Because 

D. Suppose
78. A. reliable 

B. stable 


C. countable 

D. flexible
79. A. benefited from 
B. involved with 
C. compared with 
D. resulted from
80. A. lies in 


B. shows off 

C. results in 

D. departs from
81. A. reviving 

B. including 

C. practicing 

D. containing
82. A. that 


B. since 


C. what 


D. which
83. A. group 


B. alliance 

C. government 
D. bureau
84. A. equally 

B. officially 

C. sharply 

D. proudly
85. A. cultural 

B. literate 

C. native 

D. responsible
86. A. foster 


B. hamper 

C. reform
 

D. advocate
87. A. less 


B. more 


C. fewer 


D. better
88. A. in 



B. at 


C. as 


D. to 
89. A. statistics 

B. average 

C. tendency 

D. category
90. A. increase 

B. challenge 

C. pressure 

D. complaint

　　　　　　　　　　　　Paper Two 试卷二

(60 minutes) 
Part I Error Detection and Correction (10 minutes , 10 points)
Directions: Each of the following sentences has four underlined parts marked A, B, C and D. Identify the part of the sentence that is incorrect . Then, write down the corresponding letter and, without altering the meaning of the sentence , put the correction on the ANSWER SHEET.

1. The new technology has made possible for the doctor to make diagnoses without seeing the 
A 　　　　　　　　　　B 　　　　　　　C
patient in person.
　　　　　D
2. Customers are asked to ensure that they have given correct change before leaving the shop as 
A                      B                          C
mistakes cannot be afterwards remedied.                  

D
3. This research program is financed by two funds, the largest of which could last for two years.
   A                     B                 C                     D
4. The fact which a good teacher has some of the gifts of a good actor does not mean that he will
           A                           B                     C
indeed be able to act well on the stage.
                D
5. There is few evidence that children in language classrooms learn foreign languages any better 
            A                           B                              C
than adults in similar classroom situations.
                       D
6. Although fitness will not guarantee that you will live longer, it can help you enjoying the years 
       A                   B                   C
you do live.
     D
7. While schools developing online curricula try to strike a balance between profits and prestige,
   A                                             B
many educators are confusing about their role in this digital world.
                  C                          D
8. He was caught cheating in the examination. If he had had a tail, he would put it between his 
       A       B                                C         D
legs.
9. When he speaks at banquets , he makes a point of going into the kitchen and to shake hands
               A              B                                  C 
with every waiter and waitress.
D
10. Other guests at yesterday’s opening, which was broadcast alive by the radio station, included
              A                   B               C                     D
the princess and her husband.

Part II Translation (20 minutes , 10 points )
Directions: Translate the following passage into English . Write your translation on the
ANSWER SHEET.
    在过去20年中,世界上没有任何一个国家的外贸发展速度像中国那么快。日本用了20多年时间才将其外贸总额翻了一番，而中国却翻了两番。中国现在已是全球第三大电器生产国，并且正在成为全球电器市场上的主角。中国还是世界上劳动密集型（labor-intensive）产品的主要生产国。
Part III Writing (30 minutes , 15 points)
Directions: In this part ,you are allowed 30 minutes to write a composition of no less than 150 words on The Increase in the Number of Chinese Traveling Abroad. Study the following chart carefully and base your composition on the information given in the chart.

表


1. State the changes in the number of Chinese traveling abroad in the past three years.
2. Give possible reasons for the changes.
2003年同等学力人员申请硕士学位

外国语水平全国统一考试

Paper One 试卷一

(90 minutes)
Part I Listening Comprehension (20 minutes, 15 points) 略
Part II Vocabulary (15 minutes, 15 points)
Section A

Directions: In this section there are fifteen sentences, each with one word or phrase underlined. Choose the one from the four choices marked A, B, C and D that best keeps the meaning of the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center。

16. The very sight of the imposing buildings assured these tourists of the significant changes in this city.

A. instinctive   
B. impressive   
C. institutional    
D. imaginary
17. The accepted criteria of adequate diet have been challenged by new discoveries in nutrition.

A. formations

B. components   
C. standards    
D. ingredients

18. Senior citizens are advised to go in for some creative activities to keep themselves mentally young.

A search for 

B. invest in     
C. engage in     
D. work out

19. Presumably, excessive consumption of fried foods has serious consequences as has been proved. 

A theoretically 
B. Practically    
C. Incredibly     
D. Probably

20. The sitting-room feels comfortable with the fireplace shedding warm and faint light.

A. giving off 

B. calling off     C. shaking off     
D. putting off

21. The nasty language of local officials makes them seem very ignorant and rude.

A. artificial      
B. indecent   
C. humorous     
D. lively

22. We shouldn’t treat children as peers or friends, but guide them in making their choices, even if it means with some discipline. 

A. persuasion  
B. punishment   
C. rewards      
D. criticism

23. Silk, although it is considered a delicate fabric, is in fact very strong, but it is adversely affected by sunlight.

A. soft  


B. sheer       
C. fragile       
D. refined

24. It is anticipated that this contract will substantially increase sales over the next three years.

A. apparently   
B. slightly    
C. considerably   
D. steadily

25. The new government embarked upon a program of radical economic reform.

A. initiated    
B. produced     
C. adopted      
D. implemented
26. In the accident three men were trapped in a submerged vehicle, and their only hope was another man whose legs were broken.

A. wrecked      
B. burnt     

C. overturned    
D. sunk

27. Nearly eleven thousand people have been arrested for defying the ban on street trading.

A. criticizing    
B. neglecting 

C. blaming     
D. disclosing

28. There are some things in the class the teachers will not put up with.

A. tolerate    
B. contribute     
C. resist        
D. prohibit

29. Despite the dangers and difficulties in fighting with the terrorists, the soldiers were resolute.

A. defensive     
B. aggressive   
C. stubborn      
D. firm

30. Born in 1932, he retired as a foreign correspondent for the Polish Press Agency in 1981, by which time his three books had started to come out.

A. be subscribed  
B. be published   
C. be popular   
D. be written

Section B

Directions: In this section, there are fifteen incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center.
31. Sometimes we buy a magazine with absolutely no purpose ___________ to pass time.

A. rather than    
B. other than

C. as well     
D. except for

32. Those who ___________ women’s liberation movement continue to hope, and work, for a change.

A. consist in     
B. believe in   
C. indulge in     
D. result in

33. Finding out about these universities has become easy for anyone with Internet _______.

A. entrance 

B. admission     
C. access       
D. entry

34. How strange it is that the habit he developed in his childhood still _____________ him.

A. takes to   

B. clings to  

C. attends to     
D. adds to

35. The three disrespectful sons began to feel worried about the ultimate ______________ of the family’s property.

A. proposal   
B. disposal 

C. removal      
D. salvation

36. Chemists, physicists and mathematicians are ___________ known as scientists.

A. collectively   
B. alternatively   
C. cognitively    
D. exclusively

37. The national government is to make every effort to ______________ the will of the people.

A. execute

B. exceed  

C. excite   

D. exhaust

38. There are often discouraging predictions that have not been ____________ by actual events.

A. verified   

B. utilized  

C. mobilized   
D. modified

39. Tom was ___________ of a crime he didn’t commit. He fought for many years to clear his name.

A. convicted    
B. convinced  
C. conceived    
D. condemned

40. Actor Pierce Brosnan may play the deadly super spy in the movies, but in real life he is a ___________ father and a loving husband.

A. devastated     B. deserved      C. desperate     
D. devoted

41. The years of practice, of developing my special technique, are just about to _________.

A. turn up     
B. figure out   
C. pay off       
D. clear away

42. Like most foreigners, I ask a lot of questions, some of which are insultingly silly. But everyone I __________________ has answered those questions with patience and honesty.

A. come across 
B. come by 

C. come over     
D. come into

43. Now when talking about economic reform I am very ____________ aware of the shadow hanging over most African countries’ debt.

A. well         
B. far     

C. much        
D. greatly

44. This procedure describes how suggestions for improvements to the systems are ______.

A. celebrated    
B. proceeded   
C. generated     
D. established

45. “Since we are exchanging ___________, I too have a secret to reveal,” said Mary.

A. transferences 
B. transactions   
C. confidences   
D. promises
Part III Reading Comprehension (40 minutes, 25 points)
Directions: There are five passages in this part. Each passage is followed by five questions or unfinished statements. For each of hem there are four choices marked A, B, C and D. Choose the best answer and mark the corresponding letter on the ANSWER SHEET with a single line through the center.

Passage 1
    Andrea had never seen an old lady hitchhiking (搭车) before. However, the weather and the coming darkness made her feel sorry for the lady. The old lady had some difficulty climbing in through the ear door, and pushed her big brown canvas shopping bag down onto the floor under her feet. She said to Andrea, in a voice that was almost a whisper, "Thank you dearie, —I'm just going to Brockbourne."
    Something in the way the lady spoke, and the way she never turned her head, made Andrea uneasy about this strange hitchhiker. She didn't know why, but she felt instinctively that there was something wrong, something odd, something... dangerous. But how could an old lady be dangerous? It was absurd.
    Careful not to turn her head, Andrea looked sideways at her passenger. She studied the hat, the dirty collar of the dress, the shapeless body, the arms with their thick black hairs...
　　Thick black hairs?
    Hairy arms? Andrea's blood froze.
    This wasn't a woman. It was a man.
    At first, she didn't know what to do. Then suddenly, an idea came into her racing, terrified brain. Swinging the wheel suddenly, she threw the car into a skid (刹车), and brought it to a halt.
    "My God!" she shouted, "A child! Did you see the child? I think I hit her!" 
The "old lady" was clearly shaken by the sudden skid, "I didn't see anything dearie," she said. "I don't think you hit anything. "
    "I'm sure it was a child!" insisted Andrea."　Could you just get out and have a look? Just see if there's anything on the road?" She held her breath. Would her plan work?
    It did. The passenger slowly climbed out to investigate. As soon as she was out of the vehicle, Andrea gunned the engine and accelerated madly away, and soon she had put a good three miles between herself and the awful hitchhiker.
    It was only then that she thought about the bag lying on the floor in front of her. Maybe the bag would provide some information about the real identity about the man. Pulling into the side of the road, Andrea opened the heavy bag curiously.
    It contained only one item------- a small hand axe, with a razor—sharp blade. The axe, and the inside of the bag, were covered with the dark red stains of dried blood.
    Andrea began to scream.
46. Andrea allowed the hitchhiker to take a ride in her car, mainly because _______.
A. the hitchhiker was an old woman
B. she was curious about the old lady
C. the lady had a heavy bag
D. she knew the old lady
47. What made Andrea afraid when she looked at the old lady?
A. She had a shapeless body. 


B. She had a harsh voice.
C. She wore a dirty dress. 


D. She had hairy arms.
48. Andrea suddenly stopped the car because________ .
A. she thought she had hit a child on the road
B. she skidded on some ice on the road
C. she wanted to trick the passenger into getting out
D. she couldn't concentrate and nearly had a crash
49. Andrea looked in the passenger's bag to________ .
A. examine what was in it 


B. find out where the passenger lived
C. use the passenger's tools 


D. find out who the passenger was
50. Andrea screamed because_______ .
A. she saw the hitchhiker come back
B. she realized she could have been killed
C. she was scared at seeing blood 
D. she cut herself by the blade

Passage 2
Desperately short of living space and dangerously prone to flooding, the Netherlands plans to start building homes, businesses and even roads on water.
With nearly a third of the country already covered by water and half of its land mass below sea level and constantly under threat from rising waters, the authorities believe that floating communities may well be the future.
Six prototype wooden and aluminum floating houses are already attached to something off Amsterdam, and at least a further 100 are planned on the same estate, called Ijburg.
    "Everybody asks why didn’t we do this kind of thing before," said Gijsbert Van der Woerdt, director of the firm responsible for promoting the concept. "After Bangladesh we’re the most densely populated country in the world. Building space is scarce and government stud​ies show that we’ll need to double the space available to us in the coming years to meet all our needs. "
    Before being placed on the water and moved into position by tugboats (拖船), the hou​ses are built on land atop concrete flat—bottomed boats, which encase giant lumps of polystyrene （聚苯乙烯） reinforced with steel. The flat—bottomed boats are said to be unsinkable and are anchored by underwater cables. The floating roads apply the same technology.
    The concept is proving popular with the Dutch. The waiting list for such homes, which will cost between euros 200, 000～500, 000 to buy, runs to 5, 000 names, claims Vander Woerdt.
    With much of the country given over to market gardening and the intensive cultivation of flowers, planners have also come up with designs for floating greenhouses designed so that the water beneath them irrigates the plants and controls the temperature inside.
    A pilot project, covering 50 hectares of flooded land near Amsterdam’s Schiphol airport, is planned for 2005.
    The opportunities for innovative developers look promising. "We have 10 projects in the pipeline—floating villages and cities complete with offices, shops and restaurants," Van der Woerdt said. 
51. The Netherlands plans to start building floating communities on water because _________.
   A. most parts of the country are covered by water
   B. the country is constantly threatened by floods
   C. it will promote the cultivation of flowers
   D. people think it better to live on water
52. By citing "Everyone asks why didn’t we do this kind of thing before ", the author wants to tell us that__________.
   A. building floating communities is a very good idea
   B. the director of the firm didn’t want to answer the question
   C. the Netherlands should follow the example of Bangladesh
   D. people are not satisfied with the government’s work
53. The floating houses will be________ .
   A. reinforced with steel 



B. made of concrete
   C. constructed in water 



D. built on boats
54. According to the author, the floating communities on water____________ .
   A. can promote market gardening
   B. are beyond the reach of most Dutch people
   C. will increase the cost of gardening
   D. will be very popular by the year of 2005
55. "10 projects in the pipeline" in the last paragraph means____________ .
   A. "10 pipelines to provide gas"
   B. "10 companies to lay the pipelines"
   C. "10 floating houses to be built on water"
   D. "10 building projects planned and started"
Passage 3
My new home was a long way from the centre of London but it was becoming essential to
find a job, so finally I spent a whole morning getting to town and putting my name down to be considered by London Transport for a job on the tube. They were looking for guards, not drivers. This suited me. 1 couldn’t drive a car but thought that I could probably guard a train, and perhaps continue to write my poems between stations. The writers Keats and Chekhov had been doctors. T. S. Eliot had worked in a bank and Wallace Stevens for an insurance company. I would be a tube guard. I could see myself being cheerful, useful, a good man in a crisis. Obviously I would be overqualified but I was willing to forget about that in return for a steady income and travel privileges those being particularly welcome to someone living a long way from the city centre.
    The next day I sat down, with almost a hundred other candidates, for the intelligence test, I must have done all right because after half an hour’s wait I was sent into another room for a psychological test. This time there were only about fifty candidates. The examiner sat at a desk. You were signaled forward to occupy the seat opposite him when the previous occupant had been dismissed, after a greater or shorter time. Obviously the long interviews were the more successful ones. Some of the interviews were as short as five minutes. Mine was the only one that lasted a minute and a half.
    I can remember the questions now: "Why did you leave your last job?" "Why did you leave your job before that?" "And the one before that?" I can’t recall my answers, except that they were short at first and grew progressively shorter. His closing statement, I thought, revealed a lack of sensitivity which helped to explain why as a psychologist, he had risen no higher than the underground railway. "You have failed the psychological test and we are unable to offer you a position. " 
    Failing to get that job was my low point. Or so I thought, believing that the work was easy. Actually, such jobs—being a postman is another one I still desire—demand exactly the sort of elementary yet responsible awareness that the habitual dreamer is least qualified to give. But I was still far short of full self—understanding. I was also short of cash.

56. The writer applied for the job because________ .
A. he could no longer afford to live without one
B. he wanted to work in the centre of London
C. he had received suitable training
D. he was not interested in any other available job
57. The writer thought he was overqualified for the job because_________ .
A. he had written many poems
B. he often traveled underground
C. he had worked in an insurance company
D. he could deal with difficult situations
58. The length of his interview meant that_________ .
A. he had not done well in the intelligence test
B. he was not going to be offered the job
C. he had little work experience to talk about
D. he did not like the examiner
59. What was the writer’s opinion of the psychologist?
A. He was inefficient at his job. 


B. He was unsympathetic.
C. He was unhappy with his job. 


D. He was very aggressive.
60. What does the writer realize now that he did not realize then?
A. How difficult it can be to get a job.
B. How unpleasant ordinary jobs can be.
C. How badly he did in the interview.
D. How unsuitable he was for the job.

Passage 4
For more than 10 years there has been a bigger rise in car crime than in most other types of
crime. An average of more than two cars a minute are broken into, vandalized (破坏) or stolen in the UK. Car crime accounts for almost a third of all reported offences with no signs that the trend is slowing down.
    Although there are highly professional criminals involved in car theft, almost 90 percent of car crime is committed by the opportunist. Amateur thieves are aided by our carelessness. When the Automobile Association (AA) engineers surveyed one town centre car park last year, 10 percent of cars checked were unlocked, a figure backed up by a Home Office national survey that found 12 percent of drivers sometimes left their cars unlocked.
    The vehicles are sitting in petrol stations while drivers pay for their fuel. The AA has discovered that cars are left unattended for an average of three minutes and sometimes much longer as drivers buy drinks, cigarettes and other consumer items and then pay at the counter. With payment by credit card more and more common, it is not unusual for a driver to be out of his car as long as six minutes providing the car thief with a golden opportunity.
    In an exclusive AA survey, carried out at a busy garage on a main road out of London, 300 motorists were questioned over three days of the holiday period. 24 percent admitted that they "always" or "sometimes" leave the keys in the car. This means that nationwide, a million cars daily become easy targets for the opportunist thief.
    The AA recommends locking up whenever you leave the car------- and for however short a period. A partially open sunroof or window is a further come—on to thieves.
    Leaving valuables in view is an invitation to the criminal. A Manchester probationary (假释期) service research project, which interviewed almost 100 car thieves last year, found many would investigate a coat thrown on a seat. Never leave any documents showing your home address in the car. If you have a garage, use it and lock it— a garaged car is at substantially less risk.
    There are many other traps to avoid. The Home Office has found little awareness among drivers about safe parking. Most motorists questioned made no efforts to avoid parking in quiet spots away from street lights just the places thieves love. The AA advises drivers to park in places with people around—thieves do not like audiences.

61. The passage seems to imply that payment by credit card_________ .
   A. is preferable for safe parking 

B. is now a common practice
   C. takes longer than necessary 

D. aids a car thief in a way
62. Which of the following statements is correct?
   A. In the UK, a million cars are stolen daily.
   B. In the UK, there are amateur car thieves only.
   C. There are more car crimes than any other type of offences.
   D. One in ten drivers invites car theft due to carelessness.
63. The researches mentioned in the passage on car theft include all the following EXCEPT_________.
   A. checking private garages 


B. interviewing motorists
   C. questioning car thieves


  
D. examining parking lots
64. The best way for a driver to avoid car theft is_________ .
   A. leaving documents showing one’s home address in the car
   B. locking one’s car in a parking lot at any time
   C. not leaving the car unattended for longer than necessary
   D. not leaving a sunroof or window partially open 
65. In the last paragraph, the term "safe parking" means__________ .
   A. not parking under street lights
   B. not parking in front of a theatre or cinema
   C. avoiding traps set by a possible car thief
   D. parking where a lot of people pass by

Passage 5
    Nowadays, we hear a lot about the growing threat of globalization, accompanied by those warnings that the rich pattern of local life is being undermined, and many dialects and traditions are becoming extinct. But stop and think for a moment about the many positive aspects that globalization is bringing. Read on and you are bound to feel comforted, ready to face the global future, which is surely inevitable now.
    Consider the Internet, that prime example of our shrinking world. Leaving aside the all — to—familiar worries about pornography and political extremism, even the most narrow-minded must admit that the net offers immeasurable benefits, not just in terms of education, the sector for which it was originally designed, but more importantly on a global level, the spread of news and comment. It will be increasingly difficult for politicians to maintain their regimes of misinformation, as the oppressed will not only find support and comfort, but also be able to organize themselves more effectively.
    MTV is another global provider that is often criticized for imposing popular culture on the unsuspecting millions around the world. Yet the viewers'' judgment on MTV is undoubtedly positive; it is regarded as indispensable by most of the global teenage generation who watch it, a vital part of growing up. And in the final analysis, what harm can a few songs and videos cause?
    Is the world dominance of brands like Nike and Coca—Cola so bad for us, when all is said and done? Sportswear and soft drinks are harmless products when compared to the many other things that have been globally available for a longer period of time heroin and cocaine, for example. In any case, just because Nike shoes and Coke cans are for sale, it doesn’t mean you have to buy them ——even globalization cannot deprive the individual of his free will.
    Critics of globalization can stop issuing their doom and gloom statements. Life goes on, and has more to offer for many citizens of the world than it did for their parents'' generation.

66. Some people feel sad about globalization because they believe it will_________ .
A. bring threat to the world peace
B. impact the diversified local life
C. disrupt their present easy life—style
D. increase the size of people speaking dialects
67. Internet was originally designed________ .
A. to promote education 




B. to distribute news and comment
C. to relieve people of worries 


D. to publicize political beliefs
68. What is the writer’s attitude towards globalization?
A. Suspicious. 





B. Positive.
C. Indifferent. 





D. Contemptuous.
69. It is implied in the passage that Nike and Coca—cola________ .
A. should not become dominant brands
B. has been ignored by many people
C. cannot be compared with drugs
D. shouldn’t have caused so much concern
70. Which of the following could be the best title of the passage?
A. Globalization Is Standardization
B. Globalization: Like It or Lump It
C. Globalization: Don’t Worry, Be Happy
D. Globalization Brings Equality
Part IV Cloze (15 minutes, 10 points)
Directions: In this part, there is a passage with twenty blanks. For each blank there are four choices marked A, B, C and D. Choose the best answer for each blank and mark the corresponding letter on your ANSWER SHEET with a single line through the center.
    Imagine fishermen walking down to the seashore, ready to carry out their early morning routine of preparing their boats and net. ___71___ they hope for a good catch of fish. But to their ___72___ , a horrible sight meets their still sleepy eyes. Thousands of fish have washed ___73___ dead. The cause of this mass destruction? A red tide!
    Red tides are a global ___74___. They have been observed on both the Atlantic and the Pacific coasts of the United States and Canada. They have also___75___ in many other places. Though relatively few people are ___76___ them, red tides are not new.
    In the Philippines, a red tide was first seen in the province of Bataan in 1908. Since then, red tides have been seen in many other ___77___. A Philippines red tide expert told us that " ___78___ the fish kills, the Philippines has documented 1, 926 cases of dead shellfish poisoning caused by red tides. "
    The term "red tide" ___79___ the discoloration of water that sometimes occurs in certain areas of the ocean or sea. Although the color is often red, it may also be ___80___ of brown or yellow. The World Book Encyclopedia reports that "the discolored areas may range from ___81___ a few square yards to more than 2, 600 square kilometers."
    What causes such discoloration? Red tides are generally caused by several ___82___ of single—celled organisms. These tiny organisms have hair—like projections which they use to ___83___ themselves in water. There are about 2, 000 varieties of these organisms, 30 of which carry poisonous ___84___. These minute organisms usually stay in warm waters with high content of salt.
    A red tide occurs when there is a sudden and rapid ___85___ of these organisms. The concentration of these organisms may ___86___ to 50, 000, 000 per quart of water! Although scientists do not fully understand why this happens. It is known that these organisms ___87___ when certain conditions simultaneously affect the water. These include abnormal weather, ___88___ temperatures, an oversupply of nutrients in the water, a generous ___89___ sunlight, and favorable water currents. When a heavy rainfall occurs, minerals and other nutrients are sometimes washed ___90___ the land into coastal waters. These nutrients can contribute to the breeding of the organisms. The result? Red tides! 

71. A. As a result 

B. As it is 

C. As expected 

D. As usual
72. A. satisfaction 

B. disappointment 
C. astonishment 

D. regret
73. A. ashore 


B. aboard 

C. aside

 

D. across
74. A. question 

B. crisis 


C. phenomenon
 
D. situation
75. A. occupied 

B. occurred 

C. acquired 


D. accused
76. A. assured of 

B. worried about 
C. concerned about 
D. aware of
77. A. sandy beaches 
B. river mouths 
C. coastal areas 

D. reef areas
78. A. except 


B. besides 

C. despite 


D. without
79. A. applies to 

B. sums up 

C. copes with 


D. leads to 
80. A. shadows 

B. shades 

C. shakes 


D. shapes
81. A, less than 

B. more than 

C. as much as 

D. as little as
82. A. components 

B. elements 

C. ingredients 

D. species
83. A. propel 


B. probe 


C. proceed 


D. prompt
84. A. materials 

B. substances 

C. masses 


D. objects
85. A. bolt 


B. block 


C. bloom 


D. blast
86. A. scale 


B. plunge 

C. gauge 


D. swell
87. A. accelerate 

B. accommodate 
C. accumulate 

D. accompany
88. A. optimum 

B. minimum 

C. maximum 


D. momentum
89. A. means of 

B. amount of 

C. way to 


D. account for
90. A. over 


B. on 


C. by 



D. from

Paper Two 试卷二

(60 minutes)
Part I Error Detection and Correction (10 minutes, 10 points)
Directions: Each of the following sentences has four underlined parts. These parts are marked A, B, C and D. Identify the part of the sentence that is incorrect. Then, write down the corresponding letter and, without altering the meaning of the sentence, put the correc​tion on the ANSWER SHEET.
1. If we'd fought that election on the trade union agenda, we would win a lot more votes than the
A         B                          C
Campaign issues chosen by the professionals.
                            D
2. In modern industrious areas, sociocultural change is occurring at an accelerated rate.
  A                        B                 C          D
3. Although Graham spent years struggle against the disapproval of audiences who disliked and 
A                           B
ridiculed her work, the power and substance of her unique vision proved in the end 
C   

to be undeniable.
D
4. Following the foundation of new universities at such as places as York and Lancaster, hopes
    A                                     B                             C
  for a university at Stamford ran high.
                           D
5. At the local level individual authorities, which have rather greater freedom in planning than
  A                                  B         C
  their English counterparts, have been actively in encouraging investment.
                                   D
6. The detailed study of fossils, rather like a crime investigation, it involves the piecing together
A                                             B        C
of many diverse fragments of evidence. 
D
7. Today, Guinness is the world’s widely distributed beer produced in over 40 countries and sell
                       A                                 B               C  
  in around 130.
           D
8. While the roots of social psychology lie in the intellectual soil of the whole Western tradition, 
                                A 
  it’s present flowering is recognized to be characteristically an American phenomenon.
　　B          C                          D
9. We cannot hardly expect adolescents to have respect for the possessions of others if they have
        A                          B                               C
no hope of attaining any of their own.
                       D
10. I have given my third and fourth preferences to candidates who, not if exactly "worthless" ,
A    B
know as well as I do they have no chance of being elected.
C                      D
Part II Translation (20 minutes, 10 points)
Directions: Translate the following passage into English. Write your translation on the ANSWER SHEET.
    为了成功举办2008年奥运会，北京计划投人230亿美元用于基础设施建设。据说一些外国公司已经注意到了这些商机。美国的一些公司打算在电信和信息技术方面提供产品和服务。英国的一些公司也正在围绕北京奥运会寻求商机，他们试图找到自己有优势的领域，如不污染环境的建筑技术等。

Part III Guided Writing (30 minutes, 15 points)
Directions: For this part, you are allowed 30 minutes to write a composition of no less that 120 words under the title of "What will money bring us, fortune or misfortune?" Your composition should be based on the following story given in Chinese. Give at least two rea​sons to support your choice.
                             夺命之物
    一栋住宅楼发生了大火，一个中年男子在大火中丧生。奇怪的是，他5岁的儿子明明却逃了出来。有人问明明：“你是怎么逃出来的？”明明说：“我拿了一块湿毛巾捂住鼻子，贴在地上爬……”，这是科学有效的逃生方法。
   人们不解：“你爸爸不会这么做吗？
   明明说：“会，是爸爸教我这么做的。爸爸和我一起爬到了门口，他说忘了一件东西，就又爬回去了。”
  参加救火的消防员说，他们发现那具男尸时，他的手里紧紧地摇着一沓百元大钞。
  于是，人们明白了：有一种东西杀人夺命，比大火还厉害。（摘自《深圳青年》第3期上半月刊，作者廖钧）
2004年同等学力人员申请硕士学位
外国语水平全国统一考试

Paper One  试卷一

Part I  Listening Comprehension (20 minutes, 15 points) （略）

Part II Vocabulary (10 minutes, 10 points,0.5 for each )

Section A

Directions: In this section there are fifteen sentences, each with one word or phrase underlined. Choose the one from the four choices marked A, B, C and D that best keeps the meaning of the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center。
16. Talks on climate change resumed in the German city of Bonn on July 16 to combat global warming.

   A. focus on          B. settle down             C. fight against           D. sum up

17. Hague was elected as the Conservative Party leader partly because of his ambiguous views on Britain’s position in relation to its partners in the European Union.

   A. ambitious         B. obscure                C. appalling              D. indifferent 

18. Her story shows how gentle stubbornness and an indifference to honors and fame can lead to great achievements. 

   A. persuasion        B. determination            C. devotion              D. reservation 

19. We have a responsibility to ensure our nation’s continued prosperity and the most sensible way to do this is by investment in basic scientific research.

   A. effective          B. efficient                 C. significant            D. reasonable 

20. All information reported to or likewise obtained by the commission is considered confidential.

   A. in a similar way                            B. in another way 

   C. in a direct way                             D. in an unauthorized way

21. I would recommend this inn highly on account of its wonderful location.

   A. as a result of        B. because of               C. with regard to      D. with a view to

22. Television advertisements do more than merely reflect dominant ideologies.

   A. exactly            B. faithfully                 C. repeatedly        D. simply 

23. The legislative provision has a great impact on the operations of the department.

   A. law               B. passage                  C. revision          D.  clause 

24. In spite of a problem with the faulty equipment, some very useful work was accomplished. 

   A. imperfect          B. temporary                 C. emergency        D. reinstalled

25. Bob believes that the invasion of the marketplace into the university is undermining fundamental academic values, and that we must act now to halt this decline.

   A. lace               B. plug                      C. cease              D. digest

Section B

Directions: In this section, there are fifteen incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence. Then mark the corresponding letter on the ANSWER SHEET with a single line through the center.

26. A leading British scholar has proposed translating Shakespeare into contemporary English ______ young audiences who are confused by jokes which are 400 years out of date.

   A. in memory of                         B. at the cost of 

   C. on behalf of                           D. for the benefit of 

27. The local people could hardly think of any good way to ____ poverty they had endured. 

   A. shake off          B. ward off                  C. put off               D. take off

28. The three branches of government --- the legislative, the executive, and the _____ ----restrain and stabilize one another through their separated functions.

   A. lawful              B. just                       C. judicial           D. legal 
29. From observers’ estimates of the brightness of the fireball, he ___ that the body in the space was between 40 feet and 260 feet in diameter.

   A. deduced            B. reduced                    C. induced            D. produced 

30. They provide a means of keeping ____ of the thousands of journal papers that are published monthly or quarterly.

   A. track              B. contact                     C. relation             D. steps 

31.You can use the Course Calendar to help ____ your students of important dates in the course, such as test dates.

   A. warn               B. remind                     C. convince           D. deprive

32. Among picture books for 4-8-year-olds, several outstanding works appeared that combined original stories with _____ illustrations.

   A . imaginable       B. imaginative                   C. imaging           D. imageless

33. A survey of more than 1,000 philosophers, teachers and students by the authoritative Philosophers’ Magazine placed Charles Darwin’s The Origin of ____ as the third most important work.

   A. Sperms           B. Species                       C. Spectrums         D. Specimens  

34. As skies fill with millions of migrating birds, European scientists say the seasonal miracle appears to depend on a seeming ____ : The fatter the bird, the more efficiently it flies.

   A. interruption       B. description            C. qualification         D. contradiction

35. The party leader justified his subsequent reelection ___ that he had brought political stability and economic development to his country.

   A. in the way       B. by no means           C. on the grounds      D. to the extent 

Part Ⅲ  Reading Comprehension  (45 minutes, 25 points, 1 for each )

Directions: There are five passages in this part. Each passage is followed by five questions or unfinished statements. For each of them there are four choices marked A, B, C and D. Choose the best answer and mark the corresponding letter on the ANSWER SHEET with a single line through the center.

Passage One 

    Children live in a world in which science has tremendous importance. During their lifetimes it will affect them more and more. In time, many of them will work at jobs that depend heavily on science --- for example, concerning energy sources, pollution control, highway safety, wilderness conservation, and population growth, and population growth. As taxpayers they will pay for scientific research and exploration. And, as consumers,  they will be bombarded (受到轰击) by advertising, much of which is said to be based on science.

    Therefore, it is important that children, the citizens of the future, become functionally acquainted with science---- with the process and spirit of science, as well as with its facts and principles. Fortunately, science has a natural appeal for youngsters. They can relate it to so many things that they encounter ---- flashlights, tools, echoes, and rainbows. Besides, science is an excellent medium for teaching far more than content. It can help pupils learn to think logically, to organize and analyse ideas. It can provide practice in communication skills and mathematics. In fact, there is no area of the curriculum to which science cannot contribute, whether it is geography, history, language arts, music, or art!

     Above all, good science teaching leads to what might be called a “scientific attitude.” Those who possess it seek answers through observing, experimenting, and reasoning, rather than blindly accepting the pronouncements of others. They weigh evidence carefully and reach conclusions with caution. While respecting the opinions of others, they expect honesty, accuracy, and objectivity and are on guard against hasty judgments and sweeping generalizations. All children should be developing this approach to solving problems, but it cannot be expected to appear automatically with the mere acquisition of information. Continual practice, through guided participation, is needed. (293 words)
36. One of the reasons why science is important for children is that many of them will _____.

   A. work in scientific research institutions

   B. work at jobs closely related to science 

   C. make the final decision in matters concerning science 

      D. be fund-raisers for scientific research and exploration

37. There is no doubt that children like learning science because_____.

   A. science is linked with many of the things they meet

   B. science is a very easy subject for them to learn

   C. they encounter the facts and principles of science daily

   D. they are familiar with the process and spirit of science

38. Pupils can learn logical thinking while _____. 

   A. practicing communication skills 

   B. studying geography

   C. taking art courses 

   D. learning science

39. People with a scientific attitude ____.

   A. are ready to accept the pronouncements of others

   B. tend to reach conclusions with certainty

   C. are aware that others are likely to make hasty judgments

   D. seek truth through observation , experimentation and reasoning

40. In the passage the writer seems to ______.

   A. prove that science is a successful course in school

   B. point out that science as a course is now poorly taught in school

   C. suggest that science should be included in the school curriculum

   D. predict that children who learn science will be good scientists
Passage Two 

My surprise over the past few winters has been the personality transformation my parents go through around mid-December as they change from Dad and Mom into Grandpa and Grandma. Yes, they become grandparents and are completely different from the people I know the other eleven and a half months of the year. 

  The first sign of my parents’ change is the delight they take in visiting toy and children’s clothing stores. These two people, who usually dislike anything having to do with shopping malls, become crazy consumers. While they tell me to budget my money and shop wisely, they are buying up every doll and dump truck in sight. And this is only the beginning of the holidays!

  When my brother’s children arrive, Grandpa and Grandma come into full form. First they throw out all ideas about a balanced diet for the grandkids. While we were raised in a  house where everyone had to take two bites of corm, beets (甜菜)，or liver (foods that appeared quite often on our table despite constant complaining), the grandchildren never have to eat anything that does not appeal to them. Grandma carries chocolate in her pockets to bribe (贿赂)the littlest ones into following her around the house, while Grandpa offers “surprises” of candy and cake to them all day long. Boxes of chocolate-pie disappear while the whole-wheat bread get hard and stale. The kids love all the sweets, and when the sugar raises their energy levels, Grandma and Grandpa can always decide to leave and do a bit more shopping or go to bed while my brother and sister-in-law try to deal with their highly active kids.

  Once the grandchildren have arrived, Grandma and Grandpa also seem to forget all of the responsibility lectures I so often hear in my daily life. If Mickey screams at his sister during dinner, he is “developing his own personality”; if Nancy breaks Grandma’s mirror, she is “just a curious child.” But, if I track mud into the house while helping to unload groceries, I become “careless”; if I scold one of the grandkids for tearing pages out of my textbook, I am “ impatient.” If Paula talks back to her mother, Grandma and Grandpa smile at her spirit. If I say one word about all of this excessive love, Mom and Dad reappear to have a talk with me about petty jealousies.      (398 words)

41. As regards his parents’ shopping for the grandchildren, the author ______.

   A. feels jealous                           B. feels amazed      

   C. thinks it unnecessary                    D. thinks it annoying 

42. What happens after the kids have had all the sweets?

   A. They get highly energetic.

   B. They quiet down.

   C. They want more sweets.

   D. They go to bed.

43. Which of the following is NOT true of the visiting children?

   A. They behave very well.

   B. They like chocolate very much.

   C. They receive toys from their grandparents.

   D. They are having a lot of fun.

44. It can be inferred from the passage that when the author was a child, he______.

   A. liked the foods he had 

   B. got a lot of pocket money 

   C. was spoiled by his parents

   D. was scolded if he misbehaved

45. “Personality transformation” in the author’s parents means that they _______.

   A.have turned into loving parents 

   B.have become strict parents

   C.no longer care for the author 

   D.used to believe in discipline for children 

Passage Three

   Diego Chiapello, legally blind since birth, isn’t one of Italy’s famous “mama’s boys” who live with their parents into adulthood. The 27-year-old lives alone in Milan, works as a network administrator, loves diving and dreams of sailing across the Atlantic with a sight-impaired（有视力障碍的）crew.

   Obviously, he’s not your average disabled person -----but especially so in Italy. The country has more barriers to integration than almost anywhere else on the Continent: among European countries, Italy ranks third from the bottom in accessibility for the disabled, ahead of only Greece and Portugal, People who use wheelchairs, especially, find it difficult to navigate the country’s cobblestone (鹅卵石) streets, ride buses or visit restaurants, shops and museums. Less than a quarter of Italy’s disabled hold jobs compared with 47 percent for Europe.

  But the biggest obstacle for the country’s physically challenged may, in fact, be the fabled Italian family. Because of the social defect that still attaches to disabilities, “ they tend to keep disabled people at home” and out of public view, explains Giovanni Marri, head of an employment training center in Milan that caters to the handicapped. Thus while 15 percent of the country’s families include a disabled person,  according to surveys, only 2 percent of Italians report going to school with a disabled person and only 4percent work with one.   

  Italians are beginning to recognize the problem. Over the past decade, the government has passed laws targeting everything from workplace discrimination to accessibility requirements. A recent study by the European Union found that 85 percent of Italians admit that public transportation and infrastructure (基础设施) are inadequate for the handicapped, and 97 percent say action is needed. But the biggest barrier is psychological. “Italian companies are afraid of hiring disabled people,” says Chiapello. The only way to alter that, he says, is for Italy’s disabled to do what he did--- get out of the house and demand change.   (318 words)

46. Which of the following words best describes “mama’s boys”?

   A. Ordinary. 

   B. Optimistic.

   C. Dependent.

   D. Desirable. 

47. In this passage, Chiapello is cited as an example of ______. 

   A. unusual disabled Italians 

   B. courageous blind sailors

   C. typical handicapped people

   D. vulnerable disabled Europeans

48. In Italy, where are the disabled people most likely to be?

   A. On the street 

   B. At home

   C. In school

   D. At work

49. Italy’s general public will most probably agree that ______. 

   A. physical inadequacies are the biggest obstacle for the disabled 

   B. things should be done to remove the barriers against the disabled 

   C. workplace prejudices toward the disabled are hardly recognizable 

   D. disabled people should reduce the need of going to public places

50. What is the passage mainly about?

   A. Italy has not enough in aiding the disabled.

   B. Italy’s disabled people should get out of their houses.

   C. Italian people have been blind to troubles of the disabled.

   D. Italian ways of aiding the disabled should be encouraged.

Passage Four 

 The average number of authors on scientific papers is sky-rocketing. That’s partly because labs are bigger, problems are more complicated, and more different subspecialties are needed. But it’s also because U.S. government agencies have started to promote “team science.” As physics developed in the post-World War Ⅱ era, federal funds built expensive national facilities, and these served as surfaces on which collaborations could crystallize naturally.

 Yet multiple authorship --- however good it maybe in other ways --- presents for journals and for the institutions in which these authors work. For the journals, long lists of authors are hard to deal with in themselves. But those long lists give rise to more serious questions when something goes wrong with the paper. If there is research misconduct, how should the liability be allocated among the authors? If there is an honest mistake in one part of the work but not in others, how should an evaluator aim his or her review? 

 Various practical or impractical suggestions have emerged during the long-standing debate on this issue. One is that each author should provide, and the journal should then publish, an account of that author’s particular contribution to the work. But a different view of the problem, and perhaps of the solution, comes as we get to university committee on appointments and promotions, which is where the authorship rubber really meets the road. Half a lifetime of involvement with this process has taught me how much authorship matters. I have watched committees attempting to decode sequences of names, agonize over whether a much-cited paper was really the candidate’s work or a coauthor’s, and send back recommendations asking for more specificity about the division of responsibility. 

  Problems of this kind change the argument, supporting the case for asking authors to define their own roles. After all, if quality judgments about individuals are to be made on the basis of their personal contributions, then the judges better know what they did. But if questions arise about the validity of the work as a whole, whether as challenges to its conduct or as evaluations of its influence in the field, a team is a team, and the members should share the credit or the blame.  (367 words)

51. According to the passage, there is a tendency that scientific papers__.

   A. are getting more complicated 

   B. are dealing with bigger problems  

   C. are more of a product of team work 

   D. are focusing more on natural than on social sciences  

52. One of the problems with multiple authorship is that it is hard____.

   A. to allocate the responsibility if the paper goes wrong

   B. to decide on how much contribution each reviewer has made

   C. to assign the roles that the different authors are to play

   D. to correspond with the authors when the readers feel the need to 

53. According to the passage, authorship is important when ______.

   A. practical or impractical suggestions of the authors are considered

   B. appointments and promotions of the authors are involved 

   C. evaluators need to review the publication of the authors 

   D. the publication of the authors has become much-cited 

54. According to the passage, whether multiple authors of a paper should be taken collectively or individually depends on ______.

   A. whether judgments are made about the paper or its authors 

   B. whether it is the credit or the blame that the authors need to share

   C. how many authors are involved in the paper

   D. where the paper has been published 

55. The best title for the passage can be _____.

   A. Writing Scientific Papers: Publish or Perish

   B. Collaboration and Responsibility in Writing Scientific Papers

   C. Advantages and Disadvantages of Team Science 

   D. Multiple Authors, Multiple Problems

Passage Five 

    What produces a waterproof super glue, acts like a vacuum cleaner, and even teaches scientists about gene repair? The humble little shellfish known as the mussel ( 贻贝)

    Mussels are found worldwide. Some live in the sea. Others inhabit freshwater streams and lakes. When you try to move a mussel from a rock, you will discover what an incredibly firm grip it has --- a necessity if the mussel is to resist the sharp grab of a hungry seabird or the pounding waves of the sea. How does it manage to cling so tight? When it choose a place to set up home, it pokes its tongue-shaped foot out of its shell and presses it against a solid surface. Special glands give off a fluid mixture of proteins into a channel that runs the length of the foot. The liquid quickly hardens into a fine, elastic thread about an inch long. Then a tiny pad-like structure at the end of this thread gives off some natural glue-like substance, the mussel lifts its foot, and anchor line number one is complete. These strategically placed threads form a bundle, which ties the mussel to its new home in much the same way that ropes hold down a tent. The whole procedure takes only three or four minutes.

    Imagine having a very strong glue that is non-toxic and so flexible that it can penetrate the tiniest holes and corners, sticking to any surface, even under water. Shipbuilders would welcome it for repairing vessels without the expense of dry-docking them. Auto-body workers would like a really waterproof paint that keeps the rust out. Surgeons would value a safe glue to join broken bones and to close wounds… The list of possible uses appears endless.

    However, scientists are not thinking of using the mussels themselves to produce this super glue. It would take some 10,000 shellfish to make just one gram of glue. So collection enough mussels to supply the world’s demand for super glue would wipe out the mussel population, many species of which are already endangered. Instead, American researchers have isolated and cloned the genes for five mussel glue proteins, and they are about to mass-produce them in the laboratory. However, the mussel is still one jump ahead. Only the mussel instinctively knows the exact blend of proteins needed for each kind of surface. Molecular biologist Frank Roberto has asked admiringly: “How are you ever going to imitate that?”  (407 words)

56. A mussel grips a hard surface very firmly to ____.

   A. seal itself from being damaged by sea water 

   B. produce the waterproof super glue 

   C. protect itself from being blown away by strong wind 

   D. protect itself from being the food of other animals 

57. The waterproof super glue originates in _____.

   A. the mussel’s tongue-shaped foot 

   B. some glands in the mussel’s body 

   C. the thread given off by the mussel 

   D. the channel of the mussel’s foot 

58. To tie itself safely to a new home, a mussel must _____. 

   A. produce a thread to anchor to the hard surface

   B. draw air and water from its pad-like structure

   C. hold down a tent as human beings do

   D. place many anchor lines strategically 

59. Scientists are not thinking of using mussels to produce the super glue mainly because of _____.

   A. the possible mass-production of the super glue 

   B. their concern about the cost of collecting mussels 

   C. their concern about the extinction of the species 

   D. the world’s limited demand for the super glue

60. The main idea of this passage is that _____. 

   A. mussels can be used to produce super glue

   B. mussels are much smarter than we think 

   C. it is important to protect mussels

   D. mussels have an amazing power useful to man

Part IV  Cloze  (10 minutes, 10 points, 0.5 for each )

Directions: In this part, there is a passage with twenty blanks. For each blank there are four choices marked A, B, C and D. Choose the best answer for each blank and mark the corresponding letter on your ANSWER SHEET with a single line through the center.

In recent years a new farming revolution has begun, one that involves the 61 of life at a fundamental level – the gene. The study of genetics has 62 a new industry called biotechnology. As the name suggest, it 63 biology and modem technology through such techniques as genetic engineering. Some of the new biotech companies specialize in
agriculture and are working feverishly to 64 seeds that give a high yield, that 65 diseases, drought and frost, and that reduce the need for 66 chemicals. If such goals could be achieved, it would be most 67. But some have raised concerns about genetically engineered crops.

    In nature, genetic diversity is created within certain 68 .A rose can be crossed with a different kind of rose, but a rose will never cross with a potato. Genetic engineering, 69 usually involves taking genes from one species and inserting them into another 70 to transfer a desired characteristic. This could mean, for example, selecting a gene which leads to the production of a chemical with anti-freeze 71 from an artic fish, and inserting it into a potato or strawberry to make it frost-resistant. 72, then, biotechnology allows humans to 73 the genetic walls that separate species. 

    Like the green revolution, 74 some call the gene revolution contributes to the problem of genetic uniformity---some say even more so 75 geneticists can employ techniques such as cloning and 76 culture(培养), processes that produce perfectly 77 copies. Concerns about the erosion of biodiversity, therefore, remain. Genetically altered plants, however, raise new 78, such as the effects that they may have on us and the environment. “We are flying blindly into a new 79 of agricultural biotechnology with high hopes, few constraints, and little idea of the potential 80,” said science writer Jeremy Rifkin.
61. A. manipulation       B. management        C. manufacture        D. maturity

62. A. got along with      B. given rise to        C. come up with        D. lived up to
63. A. broods            B. breeds             C. blends             D.  blasts

64. A. hatch             B. train               C. duplicate           D. patent

65. A. restrict            B. resist              C. reverse             D. retrieve

66. A. hostile            B. hydraulic           C. hazardous           D. harmless

67. A. beneficial          B. disappointing       C. surprising           D. extreme 

68. A. lines              B. limits              C. space              D. ages

69. A. after all            B. on the other hand    C. in any case          D. as a rest

70. A. to the point        B. in no case           C. in an attempt     D. with regard

71. A. quality            B. property            C. priority         D. quantity

72. A. In essence         B. In part              C. In advance      D. In return

73. A. brake             B. blaze               C. breach         D. brand

74. A. what              B. as                 C. where          D. so

75. A. that               B. because             C. if             D. when

76. A. skin               B. tissue              C. organ          D. muscle

77. A. resembling          B. alike               C. similar         D. identical

78. A. issues              B. height              C. difficulties      D. goals

79. A. spot               B. era                 C. deadline        D. scheme

80. A. navigation          B. mystery             C. outcomes       D. destination

Part I  Error Detection  (5 minutes, 5 points，0.5 for each )

Directions: Each of the following sentences has four underlined parts marked A, B, C and D. Identify
the part of the sentence that is incorrect. 
81. The farmer knows something that the whole civilized mankind seems to  have forgotten
       A                                 B                    C

, namely, when the resources of life on our planet are not inexhaustible.
              D

82. Unable to see their business as a separate entity, many people fail to make a distinction
     A                                                        B

between their company and them.
  C                    D

83. As I looked at the carpet, I wished that it could speak, since it must witness many 
                                  A         B         C

interesting events in the past decade.
               D

84. Twenty years in prison are a ridiculously harsh penalty for an action that was, after all, agreed upon by

                       A                                  B         C

 both people involved.

                            D

85. The clever method was paid attention by very few technicians until the early 1970s.

                   A       B                         C   D

86. The world’s remained tropical forests are being destroyed so fast that, at current trends, by the middle
               A                         B                 C

of this century, only the most inaccessible will remain.

                                      D
87. They are newcomers and don’t realize what takes it to start and run a business here.

                            A      B   C              D

88. I live in an apartment where you don’t have any sun and so can’t even grow anything in a flower pot
       A               B            C           D      

.

89. The reason why I love watching Tony surf is because he is so graceful and beautiful when he surfs.

          A          B         C      D 

90. Hardly would he arrive at his office when his phone calls came in rapid succession.
              A                  B        C                 D

Paper Two   试卷二
Part II  Translation (35 minutes, 20 points,10 for each section) 
Section A 

Directions: Translate the following passage into Chinese. Write your translation on the ANSWER SHEET.
Another kind of distinction that can be made among works of art is whether they were intended as objects to be looked at or to be used. The fine arts, such as painting and sculpture, involve the production of works to be seen and experienced on an abstract level. Pieces of fine art may evoke emotional or spiritual responses in us. Those who love the fine arts feel that these responses are very valuable, for they expand our awareness of the great richness of life itself.
Section B 

Directions: Translate the following paragraph into English. Write your translation on the ANSWER SHEET.
在17世纪和18世纪，中国的艺术、建筑和哲学在西方很受欣赏。此外，中国的丝绸、茶叶和瓷器在西方也备受欣赏，并在一定程度上改变了许多西方的生活方式。进入20世纪后期，西方人再次转向中国文化。他们除了喜欢中国菜肴外，还学习汉语，尝试中国医药，练习中国武术，观看功夫电影。

Part III  Writing (25 minutes, 15 points)

Directions: Read the story in Chinese below, and then write a composition of no less than 150 words under the title of "The Goal of Life". Your composition should be based on the story and the following outline:

1. What have you learned from the story?

2. What is the goal of your life? If you have achieved the goal of your life, what would you do?

参考答案
2004年真题答案
Paper One 试卷一
Part II Vocabulary 
Section A 

16-20 C B C D A 21-25 B D A A C 

Section B 

26-30 D A C A A 31-35 B B B D C 

Part III Reading Comprehension 
Passage 1 36-40: B A D D C Passage 2 41-45: B A A D D 

Passage 3 46-50: C A B B A Passage 4 51-55: C A B A D 

Passage 5 56-60: D B D C D 

Part IV Cloze 
61-65 A B C C B 66-70 C A B B C 

71-75 B A C A B 76-80 B D A B C 

Part V Error Detection：
81. D when---that 82. D them---themselves 

83. C must witness---must have witnessed 84. A are---is 

85. B paid attention to 86. A remained---remaining 

87.C it takes 88. B you---I 

89. D because---that 90. A would he arrive---had he arrived 

Paper Two 试卷二
Part I Translation: 
Section A 参考译文： 

艺术品的另外一个显著特征是它是用来观赏的还是被使用的物品。精美的艺术品，如绘画和雕塑，都包含了看得见的作品的制作和抽象的体验。一件件精美的艺术品可以唤起我们情感和精神上的响应。热爱艺术品的人会觉得这些响应是非常有价值的，因为它们扩大了我们对生活本身丰富内涵的了解。
Section B 参考译文： 

During the 17th and 18th centuries, Chinese art, architecture and philosophy had been quite appreciated in the west. In addition, Chinese silk, tea and porcelain had been warmly welcomed, and had altered, to some extent, the lifestyle of many westerners. In the last part of the 20th century, the westerners focused their attention on Chinese culture again. Besides enjoying Chinese food, they learned Chinese, tried out Chinese medicine and herbs, watched gongfu films. 

Part II Writing 参考作文
After reading this instructive story we can learn that there is no goal, there is no life, and we should set new goals for life in different periods of life. Otherwise sad story such as the disabled man mentioned in the story would happen. Only with the renewed goals, we can improve ourselves step by step, and make our life more colorful and meaningful. 

Certainly, everyone has his own goal of life. I have mine too. My goal is to become a famous surgeon. I’ll work hard to achieve this goal by learning and practicing more, so that I can make myself more  knowledgeable and skillful, and use them to benefit my patients. If I have achieved this goal, I would set up a new one. Then, I’ll do my best to achieve it. 

Therefore, everyone should set different goals in different periods of life, and try his best to achieve it. In this way, we will live happily.
2005年同等学力英语统考试题及答案
口语交际试题及答案
Part I  Dialogue Communication

Section A  Dialogue Completion
1. A: Why don't you have dinner with me tonight?
    B: ____________
   A. Because I have an appointment.
   B. Sorry about that, but I have to go to a party.
   C. The reason is that I have to work over time tonight.
   D. I’d love to, but I have to finish my paper.
2. A: I'm afraid I have spilled some coffee on the table cloth
   B: ____________
   A. Oh, don't worry about that.
   B. You needn’t apologize.
   C. I fee1 sorry for that.
   D. Oh, you shouldn’t have done that.
3. A: You seem to have a lot of work to do in your office. You’ve always been working overtime.
    B: ____________
    A. You are right, but don’t you know the meaning of work?
    B. Sorry, I don’t think so. I get overpaid for overwork, you know.
    C. That’s right. All work and no play makes Jack a dull boy.
    D. That’s right, but the work is interesting. I don’t mind some extra hours at all.
4. A: George, I would like to introduce a friend of mine, if I may: Albert Snow. Albert, this is George Smith.
    B: ____________
    A. How have you been?
    B. Pleased to meet you, George.
    C. Mind if call you George？
    D. The pleasure’s mine.
5. A: Excuse me. I don’ t want to interrupt you…
    B: ____________
    A. No, no. It’s quite all right.
    B. Well, never mind.
    C. It won’t bother me.

D. Of course not.

Section B  Dialogue Comprehension

6.   Man: I saw John yesterday. You know what? He was driving a luxurious car.
     Woman: He rented it. He often makes believe that he is a millionaire.
    Question: What does the woman mean?
   A. Everyone believes that John is a millionaire.
   B. John dreams of becoming a millionaire.
   C. John dreams of having a luxurious car.
   D. John pretends to be a millionaire.

7. Woman: I can hardly go on. The work is so tough.
         Man: Don’t lose heart I’ll back you up all the time.
   Question: What does the man mean?
      A. He will help the woman with her work.
      B. He will support the woman.
      C. He will do the work for the woman.
      D. He will encourage the woman.
8.   Man: I didn’t know you got a promotion why didn’t you tell me earlier so that we could have celebrated it?
Woman: I guess it slipped my mind. My mind was lost to other things because of work.
Question: What does the woman mean?
     A. She felt lost with her work.
     B. She had a poor memory.
     C. she forgot to tell him.
     D. She had to go to work.
9.   Man: The new Chevy Chase film was terrific!
Woman: Oh, come off it, A1. Chevy Chase is a great comedian, but he sure didn't show it in that movie.
Question: What does the woman think of the movie?
      A. It’s great comedy.
      B. It's typical Chevy Chase film.
      C. It isn’t a good comedy.
D. It isn’t as terrible as A1 thought.
10. Woman: You haven’t said a word about my dress, Dave. Don’t you like it?
          Man: I’m sorry I didn’t say anything about it sooner. I don’t think I’ve seen anything like is before.
Question: What does the man probably think of the dress?
        A. It is in fashion.
        B. It surely is unique.
        C. It is a bit old-fashioned
        D. It surely suits her

答案：1.D;2.A;3.D;4.B;5.B;6.D;7.B;8.C;9.C;10.B

词汇试题及答案
Part II  Vocabulary
Section A

11. Should English classes be compulsory at the elementary or primary school level in countries where it is not the native langue?
A. required         B. necessary     C. select          D. permanent

12. In the end, both attacks and defenses of the free market and conventional economics have immense philosophical implications.
A. traditional        B. novel        C. capital-centered   D. consumption-centered
13. Applicant will be asked to provide information on how they will disseminate information to other students at their university or college.
A. disclose          B. deliver       C. spread         D. analyze
14. In general, the British people belong to one of the more affluent countries of Europe and enjoy a high standard of living compared to the rest of the world.
A. plentiful         B powerful       C friendly        D. wealthy
15. To absorb a younger work force, many companies offered retirement plans as incentives for older workers to retire and make way for the younger ones who earned lower salaries.
    A. rewards          B. opportunities    C. motives       D. stimuli
16. Their business flourished at its new location a year later owing to their joint efforts and hard work.

A. prevailed         B failed           C. boomed       D shrank
17. The pressure on her from her family caused her to resort to the drastic measures.
A. turn to           B keep to          C stick to        D. lead to
18. 1 shall never forget the look of intense anguish on the face of his parents when they heard the news.
   A. Stress            B. dilemma         C. misery        D. surprise
19. If minor disputes are left unsettled, tough ones will pile up sooner or later.
A. accumulate       B. vanish           C. linger        D. emerge
20. The police tried in vain to break up the protest crowds in front of the government building
A. unskillfully       B. violently         C. ineffectively   D. eventually


Section B
21. I would like to express my ______ to you all for supporting me this summer as a visiting scholar in your department.
A. satisfaction       B. gratitude         C. pleasure        D. sincerity
22. The objective of this popular consultation is to determine, ______, the final political status of the region, whether to remain of the country as a special district, or to part from it.
A. once upon a time   B. once and again    C. all at once      D. once and for all
23. The two countries will assign counter-drug officials to their respective embassies on a ______ basis.
A. fundamental       B. similar          C. reciprocal      D. reasonable
24. Tennessee’s population is nearly two-fifths rural, and no single city or group of cities ______ the state.
A. dominates         B. manages        C. manipulates      D. controls
25. We all know that in a situation like this a cool head is ______.
A. called for          B. called off       C. called on         D. called up
26. The destruction an earthquake causes depends on its ______ and duration, or the amount of shaking that occurs.
A. altitude           B. magnitude       C. multitude         D. aptitude
27. The EI Nino has ______ affected the regional weather and temperature over much of the tropics, sub-tropics and some mid-latitude areas.
A. externally         B. consistently      C. Insistently        D. internally
28. During all these years of absence he had ______ a tender feeling for his mother and the family.
A. enclosed          B hugged          C. enriched          D. cherished
29. The ______ choice for a consumer, therefore, is the choice among the available ones that will enable him or her to maximize utility.
A. optimal           B. optional         C. optical           D. optimistic
30. Mrs. Smith ______ tears when she heard her daughter had died in the road accident.
A. broke in           B. broke up        C. broke through     D. broke into

答案
11.A;12.A;13.C;14.D;15.D;16.C;17.A;18.C;19.A;20.C
21.B;22.D;23.C;24.A;25.A;26.B;27.D;28.D;29.A;30.D
阅读理解试题及答案
Part III  Reading Comprehension 
Passage One 
 It was Friday, the day of the field trip on which Miss Joan would take her class to pick apples. 

Miss Joan enjoyed picking apples with her students. She smiled as she led her students to the bus that would take them to the Greenly Apple Orchard（果园）. 

The bus ride was bumpy and the kids were a little noisy, but still Miss Joan was smiling. 

The bus stopped in front of the Greenly Orchard Store and the class got off quickly and quietly. Miss Joan made sure everyone was there. “What a glorious, sunny, apple picking day,” Miss Joan announced with her grandest smile. 

Mr. Greenly was there to greet them. “Let see, there are eighteen children and two adults at three dollars each. That will be sixty dollars, please.” 

Miss Joan held up the brochure in her hand. “It says that the price is two dollars each,” she pointed ort. “That’s what I collected from everyone.” 

“We’ve had to raise the price,” Mr. Greenly stated. 

“You sent me this brochure after we made our reservation,” Miss Joan complained, “and it says two dollars!” 

“Miss Joan, if you look at the bottom of this brochure,” Mr. Greenly said, “you’ll notice a very important statement.” 
Sure enough, in very tiny letters, it said, “Prices are subject to change without notice.” 

Miss Joan was determined to keep her good mood. She took a twenty dollars bill out of her own purse and handed it to Mr. Greenly with the forty dollars she had in an envelope. 

“Now children, do you all have your baskets?” Miss Joan called out. “Remember, you can pick as many apples six apples each.” 

“I beg your pardon!” Miss Joan was not smiling now. “The brochure says, ‘ALL YOU CAN PICK’!” 

Mr. Greenly pointed to the tiniest letters Miss Joan had ever almost seen. It also says, “Terms and conditions of group reservations are subject to change without notice.” 

Miss Joan’s good mood was now history. She didn’t want to set a bad example for her students, so she said in a calm and quiet voice, “We’re going home, give me our money back, please.”
31. How many dollars did Miss Joan hand to Mr. Greenly?
A. 20         B. 40         C. 60          D. 18
32. The phrase “subject to change without notice” suggests ______.
A. Mr. Greenly could change the terms at will. 
B. the customers should read the brochure carefully.
C. Mr. Greenly could determine what apples to be picked.
D. the customers should be informed beforehand.
33. The students could not pick as many apples as they would like because ______.
A. they were children.
B. there were not enough apples.
C. they had made a group reservation. 
D. they would eat up too many apples.
34. "Miss Joan’s good mood was now history?" (the last paragraph) means ______.
A. Miss Joan had been happy until that moment 
B. Miss Joan was no longer interested in history
C. Miss Joan taught her students the history of the orchard.
D. Miss Joan was good at concealing her feelings
35. What can we 1earn about Miss Joan from the story?
A. She did not read the brochure carefully. 
B. She made a reservation after seeing the brochure
C. She lost her temper in the end.
D. She didn’t know how to complain

Passage Two

Both civilization and culture are fairly modern words, having come into prominent use during the 19th century by anthropologists(人类学家), historians, and literary figures. There has been a strong tendency to use them interchangeably as though they mean the same thing, but they are not the same. 

Although modern in their usage, the two words derived from ancient Latin. The word civilization is based on the Latin civis, of a city. Thus civilization, in its most essential meaning, is the ability of people to live together harmoniously in cities, in social groupings. From this definition it would seem that certain insects, such as ants or bees, are also civilized. They live and work together in social groups. So do some microorganisms. But there is more to civilization, and that is what culture brings to it. So, civilization is inseparable from culture. 

The word culture is derived from the Latin verb colere, till the soil. But colere also has a wider range of meanings. It may, like civis, mean inhabiting a town or village. But most of its definitions suggest a process of starting and promoting growth and development. One may cultivate a garden; one may also cultivate one’s interests, mind, and abilities. In its modern use the word culture refers to all the positive aspects and achievements of humanity that make mankind different from the rest of the animal world. Culture has grown out of creativity, a characteristic that seems to be unique to human beings. 

One of the basic and best-know features of civilization and culture is the presence of tools. But more important than their simple existence is that the tools are always being improved and enlarged upon, a result of creativity. It took thousands of years to get from the first wheel to the latest, most advanced model of automobile. 

It is the concept of humans as toolmakers and improvers that differentiates them from other animals. A monkey may use a stick to knock a banana from a tree, but that stick will never, through a monkey’s cleverness, be modified into a hook or a ladder. Monkeys have never devised a spoken language, written a book, composed a melody, built a house, or painted a portrait. To say that birds build nests and beavers(海狸)their dens is to miss the point. People once lived in caves, but their cleverness, imagination, and creativity led them to progress beyond caves to buildings.
36. What does the author think of the words “civilization”, and “culture”?
A. They are identical.
B. They are different concepts. 
C. They can often be 1used interchangeable.
D. They are defined differently by different people.
37. According to the author the word “civilization” originally refers to ______.
A. people’s way of life in cities.
B. people’s ability to live together in cities. 
C. a type of social organizations
D. an advanced level of social life
38. The Latin verb colere originally means “______”
A. live in a city.
B. develop oneself
C. promote growth
D. cultivate the land 
39. The author believes that creativity ______.
A. is a unique feature of civilized beings
B. brings forth the improvement of tools 
C. is the result of human development
D. helps the advance of culture
40. The author mentions monkeys in the last paragraph to show that ______.
A. monkeys are the same as birds
B. people once 1ived in caves like monkeys
C. monkeys can never develop into human beings
D. man is different from other animals such as monkeys 

Passage Three

The huge growth of global "ecotourism" industry is becoming an increasing concern for conservationists with mounting evidence that many wild species do not respond well to contact with human beings. overexposure to tourists has been linked to stress, abnormal behavior and adverse health effects in species such as polar bears, dolphins and gorillas（大猩猩）, says a report in New Scientist.
While regulated ecotourism can help conservation efforts by encouraging people to manage endangered species and their habitats, many projects are poorly designed and unregulated, it says. “Many ecotourist projects are unaudited, unauthorized and merely hint they are based on environmentally friendly policies and operations.” 

While regulated ecotourism can help conservation efforts by encouraging people to manage endangered species and their habitats, “many projects are poorly designed and hint they are based on environmentally friendly policies and operations.” 

Ecotourism is growing by 10 to 30 percent a year and an estimated 20 percent of tourists are thought to visit a conservation-based project. Philip Seddon, of the University of Otago in New Zealand, said that although most tourist projects conformed to basic guidelines on land use and not scaring wildlife, their full impact was rarely considered. 

“Transmission of disease to wildlife, or subtle changes to wildlife health through disturbance of daily routines or increased stress levels may translate to lowered survival and breeding,” he said. Research at the University of Auckland has shown that dolphins become restless and overactive when many tourist boats are present. When three or more boats are near, the dolphins rest for 0.5 percent of the time, compared with 68 percent when they are accompanied by a single boat. The findings are backed up by studies of dolphins in Britain. Researchers at the University of Manitoba in Canada have found that male polar bears easily disturbed by tourist vehicles, with a possible effect on their heart rate and metabolism(新陈代谢). That could reduce body fat levels and fitness, critical for survival. 

In Africa, gorillas have picked up parasites introduced to their habitat by tourists and mongooses(蠓)have caught lung diseases from human beings. Experts said that the answer to the problems was better regulation and supervision of ecotourism. The Galapagos Islands, where visitor numbers are strictly controlled, is a good model. 
41. Ecotourism is meant to ______.
A. have tourists help in the conservation of wildlife 
B. have wild species respond well to contact with humans
C. make wild species reduce stress and abnormal behavior
D. make conservationists more concerned with wildlife
42. According to New Scientist, many ecotourist Projects ______.
A. really encourage people to protect wi1dlife and its habit
B. strictly follow environmentally friendly polices
C. actually lack proper examination and official approval 
D. seriously damage the habitats of endangered species
43. What will happen to wildlife ultimately if the present "ecotourism" practice goes on?
A. It will disturb their life.
B. It will affect their health.
C. It will increase their stress.
D. It will threaten their survival. 
44. According to the passage, the growth in the global “ecotourism” industry ______.
A. reflects a growing concern for conservation
B. arouses a growing concern for conservation 
C. coincides with a mounting concern for conservation
D. originates from a grater concern for conservation
45. According to the passage, a solution to the "ecotourism" problem is to ______.
A. encourage people to manage endangered species
B. reduce the exposure of wildlife to human beings 
C. help wild animals increase their fitness
D. prevent wildlife from catching human disease

Passage Four

Computers can beat chess champion Gary Kasparov at his game, count all the atoms in a nuclear explosion, and calculate complex figures in a fraction of a second, but they still fail at the slight differences in language translation. Artificial Intelligence computers have large amounts of memory, capable of storing huge translating dictionaries and extensive lists of grammar rules. Yet, today’s best computer language translators have just a 60 percent accuracy rate. Scientists are still unable to program the computer with human-like common sense reasoning power.
Computer language translation is called Machine Translation, or MT. While not perfect, MT is surprisingly good. MT was designed to process dry, technical language that people find tedious to translate. Computers can translate basic phrases, such as "You foot bone’s connected to your ankle bone, your ankle bone’s connected to your leg bone." They can translate more difficult phrases, such as "Which witch is which?" Computers can also accurately translate "Wild thing, you make my heart sing!" into other languages because they can understand individual words, as long as the words are pre-programmed in their dictionary.
But highly sensitive types of translating, such as important diplomatic conversations, are beyond the scope of computer translating programs. Human translators use intuitional meaning, not logic, to process words and phrases into other languages. A human can properly translate the phrase, “The pen is in the

pen（围养禽畜的圈）,” because most humans know that it means that a writing instrument is in a small enclosed space. Many times, computers do not have the ability to determine in which way two identical words in one sentence are to be used.
In addition to using massive rule-programmed machines, computer programmers are also trying to teach computers to learn how to think for themselves through the "experience" of translating. Even with these efforts, programmers admit that a "thinking" computer might not ever be invented in the future.
46. Computers today are capable of ______.
A. defeating the best chess player in the world. 
B. telling subtle differences between languages
C. translating over 60 percent of difficult texts.
D. doing human-like common sense reasoning
47. According to the passage, which of the following is NOT true?
A. Computers can translate dry and difficult phrase.
B. Computers can understand sensitive language. 
C. Computers can translate technical language
D. Computers can understand pre-programmed word.
48. The major problem with computer translating programs is that computers ______.
A. can not translate illogical sentences 
B. do not have a large enough capacity of memory
C. can not understand grammatical rules
D. do not have intuition to process language
49. To improve machine translation, computer programmers are trying to______.
A. use powerful rule-programmed computers
B. teach computers to think by practice 
C. have computers compile translating dictionaries
D. add explanations of words in computer programs
50. The passage suggests that ______.
A. the accuracy rate of machine translation cannot be raised
B. it is impossible for computers to think as humans do 
C. only technical language is suitable for machine translation
D. it is impossib1e to determine of identical words

Passage Five

Several years ago during the dot-com passion, Manhattan lawyer John Kennedy sometimes wore a dark blue suit to meet potential Internet clients. But he soon realized that his conservative clothes were a strike against him before he even shook hands. so he began to do business in casual, open-shirt clothes.
But now the tables have turned. Today Silicon Valley executives are the ones often coming out in suits. No wonder that fortune 500 executives are dusting off their silk ties and pants. “I would say there is a trend now toward a little more business dress,” said Kennedy. “I find myself wearing suits more.”
While there isn’t a rush toward formal office wear, clothiers and executives say the workplace uniform is heading that way. In many offices, men are wearing Jackets, ties and pants more frequently than a year age. Top women executives never went as casual as men, so the shift doesn’t affect them as dramatically.
“Business casual” took several years to catch on. It started with casual Fridays, evolved to casual summers, then became casual everyday. ……
Observers mention many factors driving the trend Internet companies helped lead the dress-downmovement and other industries followed suit to attract workers. But with the collapse of many dot-coms, the relaxed look is becoming a style to avoid. Moreover, as the economy stumbles, more people are hunting for jobs or trying to keep the ones they have, and appearance counts.
US President Bush wears a coat and tie in the White House office and expects his staff to dress “professionally,” which some say sets a tome for the nation.
……
51. "Business casual" was prevalent several years ago because ______.
A. the Manhattan law business grew very quickly
B. shaking hands with clients became popular
C. the country was fighting the conservatives
D. the Internet companies boomed then 
52. When the "business casual" prevailed, ______.
A. businessmen wore ties only in workplace
B. businessmen didn’t wear ties at all
C. businesswomen didn’t wear formally in workplace
D. businesswomen still wore formally everywhere 
53. The Fortune 500 executives ______.
A. set the trend toward more casual wear
B. are particular about what they wear
C. begin to wear suits more often than before 
D. are usual1y indifferent to fashion trend
54. At the beginning of the "business casual" trend, business people wore casually______.
A. when meeting clients
B. on weekends 
C. in summer
D. almost everyday
55. It is implied in the passage that the change of business dress from the casual to the formal reflects ______.
A. the changed of people’s taste in fashion
B. the ups and downs of the fashion industry
C. the ups and downs of the Internet companies 
D. people’s difference in business dress

答案：
31.C,32.A,33.C,34.A,35.A,
36.B,37.B,38.D,39.B,40.D
41.A,42.C,43.D,44.B,45.B
46.A,47.B,48.A,49.B,50.B
51.D,52.D,53.C,54.B,55.C

完型填空
The United States has historically had higher rates of marriage than those of other industrialized countries. The current annual marriage   56  in the United States—about 9 new marriages for every 1,000 people—is  57  higher than it is in other industrialized countries. However, marriage is 58   as widespread as it was several decades ago.  59   of American adults who are married   60   from 72 percent in 1970 to 60 percent in 2002. This does not mean that large numbers of people will remain unmarried   61   their lives. Throughout the 20th century, about 90 percent of Americans married at some   62   in their lives. Experts   63   that about the same proportion of today’s young adults will eventually marry. 
   The timing of marriage has varied   64  over the past century. In 1995 the average age of women in the United States at the time of their first marriage was 25. The average age of men was about 27. Men and women in the United States marry for the first time an average of five years later than people did in the 1950s.  65  ,  young adults of the 1950s married younger than did any previous  66  in U.S. history. Today’s later age of marriage is   67  the age of marriage between 1890 and 1940. Moreover, a greater proportion of the population was married (95 percent) during the 1950s than at any time before   68    . Experts do not agree on why the “marriage rush” of the late 1940s and 1950s occurred, but most social scientists believe it represented a   69   to the return of peaceful and prosperity after 15 years of severe economic   70   and war.

56. A. rate                B. ratio                 C percentage       D. poll

57. A. potentially           B intentionally           C. randomly        D.substantially

58 A. not any longer        B. no more             C. no longer        D. not any more

59 A. A proportion          B. The  proportion      C. The number      D. A number

60 A. declined              B .deteriorated          C deduced         D demolished

61 A  past                 B passing               C throughout      D through

62 A period                B level                  C point            D respect

63 A project                B plan                  C promise         D propose

64 A unexpectedly           B irregularly             C flexibly          D consistently

65 A Beside                 B However              C Whereas         D Nevertheless

66 A descendants            B ascendants            C population       D generation

67 A according to            B in line with             C based          D caused by

68 A and after               B or after               C or since         D ever since

69 A refusal                  B realization            C response        D reality

70 A repression              B aggression             C restriction       D depression 

答案：
56.A.  57.D .  58.C. 59.B. 60. A. 61. C. 62. C.  63. A.  64.C.  65. B.. 66.D . 67. B . 68 .C. 69.C 70.D

辩错题及答案
Part V  Error Detection 
71. It is an accepted custom for guests to take their gifts to
                        A                           B
the wedding reception when the couple invited them to 
  C                                               D
attend.

72. Some international students use a cassette recorder to make 
                                           A                             B
tapes of their classes so that they can repeat the lectures
                            C
again.                                                                                   
   D                                                               
                   
73. Despite of diligent effort to promote domestic production during
              A
the war years, the Continental Army had to rely primarily on
                                                    B
captures and imports for much of its military  hardware and
     C                          D
even for clothing.


74. In a sense, farmers began primitive genetic engineering 

at the dawn of agriculture, which they  kept seeds
            A                      B
from their best plants, gradually improving the quality of  
  C                                         D
successive generations.

                                  
75. Students completing a course in computer science and 
                       A
technology can look forward to  find a  wide
                           B            C 
range of jobs.
   D


76. The departments concerned shall listen and accept 
                                              A 
criticisms and rational suggestions regarding the protection of
  B                                            C
women’s rights and interests.
    D
                                        
                           
77. Astronomers have increases their observation powers 
                          A
greatly through improved high-powered  telescope, computer
  B                     C
simulations and coordinate with other scientists.
                       D
                                
78. In business as a whole, there is a controversy as to 
           A                                                 B
whether are businesses really encouraging the prospects of greater
               C
equality in the workplace.
      D

79. It is ironic that although in 1955 actor James Dean made an 
        A
advertisement warning teens of how harm it was to drive 
                                              B
fast, he himself died from a speeding accident.
C                         D
80. Neither of the boys who have been helping us 
       A                            B
know the importance of his particular project.
   C                                  D
答案：71.D;72.D;73.A;74.B;75.C;76.A;77.D;78.C;79.B;80.C

汉译英试题
随着我国社会经济的迅猛发展、人民生活水平的提高和医疗卫生事业的改善,我国老年人口明显增多。不少人对此忧心忡忡,但有识之士指出,我们不仅要看到人口老龄化所带来的巨大压力,也要看到人口老龄化背后所蕴涵的商机以及老年人丰富的智力、经验等资源,要将压力变为机遇。
翻译范文：
With the rapid development of our society's economy,people's living standard and medical industy are improved.People are severely worried about the increasing number of older people.Some experts say that not only it brings us enomous pressure,but also does it turn pressure into opportunity when we realize that the trade opportunity behind it and abundant of resourses such as telligent and experience.


英译汉试题
Progress in communication and transport technologies during the 20th century has enabled us to overcome geographical boundaries and revolutionize our way of living. The world is now linked to such an extent that a local happening cannot take place without impacting on the International community.
   Globalization is not Just about increasing the worldwide circulation of information and ideas. Economically speaking, It entails transnational investment and international trade, thereby integrating all countries into a single giant world market. In terms of culture, globalization itself is neither positive nor negative: It may be either of them depending on our viewpoint.

作文试题
要求：写一篇不少于150字的作文，
关于：Whether College Students Should Be Allowed to Get Married 
Outline:
1. Choose either of the two positions: College students should (not) be allowed to get married.
2. State your reasons for or against the issue
3. Conclusion
参考范文：

There is much discussion nowadays as to whether or not College students should be allowed to get married. Some people think it is humanistic to allow college students to get married, while there are some others who believe that it may make a far-reaching negative impact upon the students’ study. Were it left for me to decide whether college students should be allowed to get married or not, I would not hesitate a moment to prefer the latter. 

There are a dozen of reasons behind my belief. First of all, academic studying is what the college life should focus on. The whole point of marriage is that it imposes clear obligations, not just the right to pursue your own happiness, but to provide both emotional and practical care for each other, which surely wastes a lot of time. 

More importantly, most college students are relying on their parents’ financial support to continue their study. Surely, their parents hope they can concentrate on study instead of love affairs. 
Most important of all, a great majority of college students are still young, that is, they have not yet developed a sound opinion as to the true implication of love and marriage, thereby, most of their marriages may end up in divorce. 

From what we discussed above, we can safely come to the conclusion that it is unwise to allow college students to get married. Because it wasted too much time, money and energy, which greatly influences their studies and both physical and mental welfare. And the rules and regulations should be made by both the college and the governments to be manifest to all college students that college students are forbidden to get married.
2006年同等学力英语试题

卷一

 Part I．Dialogue Communication (10minutes 10 points) 

Section A Dialogue Completion 
Direction: In this section, you will read 5 short incomplete dialogues between two speakers, each n followed by 4 choices marked A, B, C, and D Choose the best answer that best suits the situation to complete the dialogue by marking the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
1. A: Sorry to bother you ,but could you tell me the way to Sunset Road? 

B:___________
A. Sorry I couldn’t help 
B. Yes, what can I do for you? 

C. I’m afraid I have no idea. 

D. It’s not too far from here, is it? 

2. A：Do you do exercises every day? 

B: ____________
A. No，it depends on what kind of exercise? 

B. No, I go to health club most of the time. 

C. Yes，usually every other day. 

D. Yes，rain or shine. 

3. A: That was a delicious meal, Mrs. Barr. Thank you very much. 

B：________________
A. You’re welcome. B. Never mind. 

C. It doesn’t matter. D. It's just OK. 

4. A：I have a last favor to ask of you. Could you drive my daughter to the airport? 

B: ________________
A. Shall I get the ticket for her. 

B. Yeah, I like that. 

C. You bet I will. 

D. Sure it’d be a pleasure. 

5. A: May I see the dentist now? 

B: _______________
A. Is it a real emergency? 

B. Do you have an appointment? 

C. In that case, you’ll have to wait. 

D. I'll talk to the dentist and squeeze you in. 

Section B Dialogue Comprehension 
Direction: In this section, you will read 5 short conversations between a man and a woman, At the end of each conversation there is a question followed by 4 choices marked A, B, C, and D Choose the best answer to tile question from the 4 choices by marking the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
6. Man: I'm going to ask the neighbors to turn the music down. I can’t hear myself think 

Woman: Do you really think it makes my difference to them? 

Question: What does the woman mean? 

A. He should have told them earlier. 

B. It is of no use to turn the music down. 

C. The neighbors will not listen to him. 

D. He should focus on his own thinking 

7. Man: What shall we take for the rap? 
Woman: We'd better take the bare necessities. 

Question: What does the woman suggest? 

A. They should take as little as possible. 

B. They should take their daily necessities 

C. They should take as much as they can. 

D. They should take nothing with them, 

8. Woman: We are going to go away on vacation… Can you hear me? 

Man: I'm all ears. 

Question: What does the man mean? 

A. He is listening attentively 

B. He couldn't care less. 

C. He likes the woman's idea 

D. He is against the woman's plan. 

9. Woman: I’m really behind with my project. Can you help me? 

Man: I'01 afraid you bit off more than you could chew! 

Question: What does the man mean? 

A. He is not willing to help the woman 

B. The woman is unable to do the project. 

C. The woman is doing more than she can manage. 

D. He is not in a position to help the woman. 

10. Woman: There's Bill on his motorcycle again. Did he get it fixed in the garage? 

Man: Don't be silly. That would have keen a waste of money. It only had a flat tire. 

Question: What does the man imply? 

A. The woman was so silly as to waste much money. 

B. It was costly to have the motorcycle fixed in the garage. 

C. Bill must have repaired me motorcycle himself. 

D. There was a serious problem with the motorcycle. 

part II Vocabulary (10 minutes, 10 points) 

Section A 
Direction: In this section there are 10 sentences, each with one word or phrase underlined. Choose the one from the 4 choices marked A, B, C and D that best keeps the meaning of the sentence. Then mark the corresponding letter with a single bar across the square brackets on your machine- scoring ANSWER SHEET. 
11. Readers are required to abide by the rules of the library and mind their manners. 

A. observe B. memorize 

C. review D. compose 
12. The coach explained the regulations at length to make sure that none of his players world become violators 

A. at last B. at large 

C. in detail D. in short 

13.The cost of healthcare and health insurance remains the most urgent health problem 

facing the country today. 

A. pressing B. important 

C. neglected D. complicated 

14.She believes that she is not a good mother because she does not fit the stereotype of a woman who spends all her time with her children. 

A. popular image B. common standard 

C. fixed conception D. pleasant notion 

15.Thus the most logical approach is to focus our analysis on the trade relations of 

Spain with other European countries. 

A. reasoning B. conclusion 

C. position D. method 

16.We no longer keep up the close friendship of a few years ago though we still visit 

each other on occasion. 

A. in good time B. up to date 

C. now and then D. once and for all 

17.The university offered several more courses for the purpose of furthering the career 

aspirations of its students. 

A. ambitions B. achievements 

C. advantages D. advances 

18.Many women prefer to use cosmetics to enhance their beauty and make them look 

younger. 

A. enforce B. magnify 

C. improve D. polish 

19.The leaders of the two countries are planning their summit meeting with a pledge to maintain and develop good ties. 

A. strategy B. standpoint 

C. promise D. priority 

20.Many youngsters have heard their parents say “You’ll never amount to anything if you keep daydreaming that way!” 

A. be equal to B. accomplish 

C. add up to D. pursue 
Section B 
Directions: In this section, there are 10incomplete sentences. For each sentence there are 4 choices marked A b C and D .Choose the one that best completes the sentence. Then mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
21.Two decades ago a woman who shook hands with men on her own _________was 

usually viewed as too forward. 

A. endeavor B. initiative 

C. motivation D. preference 

22.The fruit ___________more than half the country’s annual exports. according to a 

recent report. 

A. accounts for B. stands for 

C. provides for D. makes for 

23.The violent_ _______of his youth reappeared and was directed not only at the army 

but at his wife as well. 

A. impatience B. character 

C. temper D. quality 

24.This hypothesis states that environments that are too clean may actually make the 

________system develop oversensitive responses. 

A. mental B. nervous 

B. immune D. physical 

25.The Adult Vocational College is an opportunity to gain the right qualifications for 

various careers for it offers an________ range of subjects and courses. 

A. additional B. excessive 

C. adequate D. extensive 

26.It’s disturbing to note how many of the crimes we do know about were detected 

_________ not by systematic inspections or other security procedures. 

A. by accident B. on schedule 

C. in general D. at intervals 

27. You can always _______ Jim in a crisis, for he is simply the most helpful person I’ve ever known. 

A. refer to B. count on 

C. cope with D. run into 

28. He wanted to stay at home, but at last he agreed, very_____ though, to go to the concert. 

A. decisively B. reluctantly 

C. willingly D. deliberately 

29. The audience, hostile at first, were greatly _____ by her excellent performance. 

A. annoyed B. encouraged 

C. impressed D. depressed 
30. Many birds and insects an build _____ nests to provide shelter for their young. 

A. glories B. elaborate 

C. splendid D. advanced 

Part III Reading Comprehension (45minutes, 25points) 

Directions: There are 5passages in this part. Each passage is followed by 5 questions or unfinished statement. For each of them there are 4 choices marked A, B, C and D. Choose the best one and mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
Passage One 
At all age and at al stages of life, fear presents a problem to almost everyone. “We are largely the playthings of our fears,” wrote the British author Horace Walpole many years ago. “To one, fear of the dark; to another, of physical pain; to a third of public ridicule; to a fourth, of poverty; to loneliness ---- for all of us our particular creature waits in a hidden place.” 

Fear is often a useful emotion. When you become frightened, many physical changes occur within your body. Your heartbeat and responses quicken; your pupils expand to admit more light; large quantities of energy-producing adrenaline （肾上腺素）are poured into your bloodstream. Confronted with a fire or accident, fear can fuel life-saving flight（逃离）. Similarly, when a danger is psychological rather than physical, fear can force you to take self-protective measures. It is only when fear is disproportional to the danger at hand that it becomes a problem. 

Some people are simply more vulnerable to fear than others. A visit to the newborn nursery of any large hospital will demonstrate that, from the moment of their births, a few fortunate infants respond calmly to sudden fear-producing situations such as a loudly slammed door. Yet a neighbor in the next bed may cry out with profound fright. From birth, he or she is more prone to learn fearful responses be3cause he or she has inherited a tendency to be more sensitive. 

Further, psychologists know that our early experiences and relationships strongly shape and determine our later fears. A young man named Bill, for example, grew up with a father who regarded each adversity as a temporary obstacle to be overcome with imagination and courage. Using his father as am model ,Bill came to welcome adventure and to trust his own ability to solve problems. 

Phil’s dad, however, spent most of his time trying to protect himself and his family. Afraid to risk the insecurity of a job change, he remained unhappy in one position. He avoided long vacations because “the car might break down. “ Growing up in such a home, Phil naturally learned to become fearful and tense. 

31. In the last sentence of Paragraph 1, “ our particular creature’ refers to ______. 

A. fear of something B. a fierce beast 

C. physical pain D. public ridicule 
32. Fear can be useful emotion to us because it can _____. 

A. stimulate many physical changes within our body 

B. quicken our heartbeat and responses 

C. pour large quantities of adrenaline into our bloodstream 

D. help us respond quickly to danger and protect ourselves 

33. Fear becomes a problem only when ______. 

A. the danger is thought greater than it really is 

B. the danger is ore psychological than physical 

C. one cannot stand the danger 

D. one is not well prepared for it 

34. Different responses of newborn infants to a loudly slammed door imply that ______. 

A. some people are inherently more easily affected by danger 

B. people’s response to stimuli is not an inherited feature 

C. some people seem to be very sensitive to noise 

D. people sometimes seem to turn a deaf ear to noise 

35. Psychologists have found that our later fears are determined largely by our ______. 

A. home education B. school education 

C. parents’ lifestyle D. early experiences 

Passage Two 
Sea horses are unusual parents. The female sea horses lay the eggs, but unlike other creatures, it’s the males that give birth to the young. 

Male sea horse have a fold of skin on their bellies that forms a pocket, called a brood pouch. During the breeding season, the sea horse’s pouch swells to receive eggs. A female sea horse lays up to 200 eggs at a time in the pouch. Then she swims off, leaving her male partner to care for the developing eggs and give birth to young sea horses. The female will return every day to check on her mate and the eggs, but she doesn’t stay long, nor does she take part in the birth. 

It takes from to six weeks for the eggs in the male’s pouch to develop. During this time the male avoids open water and hides in sea grass. His big pouch makes it difficult form him to swim, so the male often uses his often uses his tail to grasp a piece of sea grass. Firmly, gripping the grass, he will stay perfectly still for hours or even days. The male sea horse will change his color to blend with his surroundings and avoid being seen by predators who will try to eat him or poke holes in his pouch to get the eggs. 

The eggs hatch inside the male’s pouch. When the babies begin moving around , the male sea horse knows it’s time for them to be born. He grabs a sea grass stem with his tail and begins rocking, bending his body back and forth．This causes the opening to enlarge until it is wide enough for the first baby sea horse to shoot out. The father sea horse continues rocking, bending, and stretching his baby sea horse to shoot our. The father sea horse continues rocking, bending, and stretching his body so that the rest of the babies can be born. Sometimes he has to press his pouch against a rock or some stiff seaweed to force the young out. 

Sea horse babies are born in groups of five or more. Sometimes it takes two days for the father sea horse to give birth to all his young. He is very tiered when it’s over. 

Soon after giving birth to one brood, the male will approach his mate and show her his empty pouch. This tells her he is ready to receive eggs again. 

36. What part does the female sea horse play in having babies? 

A. Receive eggs. B. Laying eggs. 

C. Hatching eggs D. Protecting eggs 

37. What can be learned from the passage about giving birth to baby sea horses? 

A. It is dangerous for the female. B. It happens once a year 

C. It is hard work for the male D. It occurs in the deep sea. 

38. To protect himself and his eggs, the male sea horse does all the following EXCEPT______. 

A. changing his color B. gripping a piece of grass 

C. staying motionless D. enlarging his pouch 

39. The author suggests when sea horse babies are ready to be born _______. 

A. the male sea horse seems very happy 

B. it is difficult for them to come out 

C. the female sea horse joins the male 

D. they need large space in the pouch 

40. Which fact does the author want the reader to remember most? 

A. The male sea horse gives birth to the young. 

B. The female sea horse lays up to 200 eggs at a time. 

C. Baby sea horse are born in groups of five or more. 

D. The female will return every day to check on the eggs. 

Passage Three 
When 23- year-old Eric Atienza graduated from college last year, he didn’t have a job. Not wanting to give up his apartment and move back with his parents, he did what many young Americans are doing: he signed up with a temp agency, which places workers on short-term jobs. Temporary workers such as Atienza comprise 20 per5cent of the US workforce. In 1985, 417,000  workers were classified as temporary help. In 2005, there are more than 2.5 million, according to Labour Department data. 

Using temporary workers allows companies to increase or decrease the number of staff as their workloads change. It also allows companies to avoid the costs involved in hiring and firing long-term employees. 

Many temp agency owners and career specialists say temping is a good way for recent graduates to get experience. “Short-term jobs let graduates try out different companies to find the best fit,” said Pegi Wheatley, owner of McCall Staffing, a San Francisco temp agency. 

But things don’t always work out that way. “When I started temping, I had this notion that a temporary job could turn full-time. It worked for a friend of mine, but that didn’t happen for me,” , said Atienza, who quickly became bored with his office work. Atienza stayed with the temp agency because he could earn US $ 10 an hour doing office work. Other short-term jobs, such as working as a store clerk or in a café, pay about US $ 7. 

But there were trade-offs for the higher pay. Because in the US, health insurance is provided through employer, most temps are not eligible for workplace health benefits. Atienza ran the risk that an accident or illness would land him in the hospital with no way to pay the bill. Other drawbacks, though less serious, still mean that temping for most graduates is exactly what its name implies ---- a temporary choice. Instability, gaps between contracts, lack of vacation time and isolation from other employees are often- cited negatives. 

“Temping gave me the time to figure out what I wanted to do, because I could pay off my bills. But none of that came from the jobs themselves,” said Atienza, who quit temping last month in favor of a full-time job. 

41. Atienza took a short-term job mainly because _______. 

A. he didn’t want to give up his apartment 

B. he liked to try out different companies 

C. he wanted to get more experience 

D. he couldn’t find a long-term job 

42. According to the passage, in the year of 2005, the United States had a workforce of more than ______. 

A. 25 million 

B. 12.5 million 

C. 4.17 million 

D. 2.5 million 

43. Which is NOT mentioned as an advantage of temping? 

A. It gives recent graduates experience. 

B. It enables employers to adjust their workforce. 
C. A temporary job will turn full-time. 

D. Employers can reduce their costs. 

44. Atinenza stayed with the temp agency for some time because______. 

A. he liked his office work 

B. he was satisfied with the pay 

C. his employer provided health insurance 

D. he hated gaps between contracts 

45. What does the word “trade-offs” in Paragraph 5 mean? 

A. Benefits 

B. Compromises 

C. Risks 

D. Disadvantages. 

Passage Four 
Scientists are hoping to eliminate malaria (疟疾 ) by developing a genetically modified mosquito that cannot transmit the disease. Malaria has long troubled the populations of South America, Africa, and Asia, where mosquito bites infect up to 500 million people a year with this serious and sometimes fatal parasitic blood disease. For generations, scientists have been trying to eliminate malaria by developing new drugs and using pesticide (杀虫剂) to wipe out local mosquito populations. But these measures aren’t working ---- and some scientists, like Greg Lanzaro, say that because of drug resistance and population changes, malaria is actually more prevalent now than it was 20 years ago. Lanzaro says he has a better way to stop the spread of malaria : genetically modifying mosquitoes so they are unable to carry the disease. 

Lanzaro and his colleagues are planning a multi- year project to produce malaria- resistant mosquitoes ---- and he thinks they can do it wihin five years. “We can get foreign into mosquitoes and they go where they’re supposed to go,” Lanzaro says , pointing out that scientists have already succeeded in genetically engineering mosquitoes that cannot transmit malaria to birds and mice. And, he says, scientists are quickly making progress on genes that block transmission of the disease to humans as well. 

The most difficult part scientifically, Lanzaro says, is figuring out how to get the lab-engineered mosquitoes to spread their genes into natural populations After all, he points out, it’s useless to engineer mosquitoes in the lab that can’t transmit malaria when there are millions out in the wild that can. To solve this problem, Lanzaro wants to load up a mobile piece of DNA with the malaria- resistant gene, and then insert it into a group of mosquito embryos. The malaria-resistant gene would be integrated directly into the mosquitoes’ DNA, making it impossible for those mosquitoes to tr5ansmit the parasite that causes malaria. In this way a small group of lab-raised mosquitoes could be released into the wild, and by interbreeding with wild mosquitoes, eventually transmit the beneficial gene to the entire population. 

46. One reason for malaria to be more widespread now is that ______. 

A. more people have moved to malaria-infected areas 

B. mosquitoes have become resistant to pesticides 

C. genetically modified mosquitoes still transmit the disease 

D. mosquitoes bite as many as 500 million people a year 

47. Lanzaro is hopeful that in a few year man can ______. 

A. start to eliminate malaria 

B. cure parasitic blood diseases 

C. prevent mice form transmitting parasites 

D. acquire immunity against malaria 

48. Lanzaro is confident that scientists can block the transmissions of malaria to humans because 

_______. 

A. natural mosquito populations do not change 

B. scientists have succeeded with birds and mice 

C. foreign genes always go where they are required 

D. lab- raised mosquitoes will not be resistant to drugs 

49. What is the most difficult part of Lanzaro’s project? 

A. Spreading malaria- resistant genes into natural mosquito populations 

B. Raising malaria- resistant mosquitoes 

C. Making genes that block the transmission of malaria 

D. Identifying malaria-resistant genes 

50. According to the passage , a fundamental way to wipe out malaria is to ______. 

A. develop new malaria-resistant drugs 

B. produce effective pesticides to kill mosquitoes 

C. change the genetic makeup of mosquitoes 

D. remove people from malaria – infected areas 

Passage Five 
According to Scott Adams, creator of the comic strip (系列漫画) Dilbert, the annual performance review is “one of the most frightening and weakening experiences in every employee’s life. Adam’s stor5ies and comic figures poke fun at the workplace, but his characterization of people’s feelings about the annual performance review has its serious side. Although a recent study of 437 companies indicates that effective annual performance reviews can help raise profits, most employees of those companies hate them. 

In theory, annual performance reviews are constructive and positive interactions between managers and employees working together to attain maximum performance and strengthen the organization. In reality, they often create division, undermine morale, and spark anger and jealousy. Thus although the object of the annual performance review is to improve performance, it often has the opposite result. A programmer at an IT firm was stunned to learn at her annual performance review that she was denied a promotion because she wasn’t a “term player.” What were the data used to make this judgment? She didn’t smile in the company photo. 

Although this story might sound as if it came straight out of Dilbert, it is a true account of one woman’s experience. By following a few ideas and guidelines from industry analysis, this kind of ordeal can be avoided: 

To end the year with a positive and useful performance review, managers and employees must start the year by working together to establish clear goals and expectations. 

It may be helpful to allow employees to propose a list of people associated with the company who will be in a good position to assess their performance at the end of the year; these people may be co-workers, suppliers ,or even customers. 

Goals should be measurable but flexible, and everyone should sign off on the plan. 

By checking employees’ progress at about nine months, managers can give them a chance to correct mistakes and provide guidance to those who need it before the year is out. 

When conducting the review, managers should highlight strengths and weaknesses during the past year and discuss future responsibilities, avoiding punishment or blame. 

In short, when employees leave their performance reviews, they should be focusing on what they can do better in the year ahead, not worrying about what went into their files about the past. 

51. In his comic strip Dilbert, Scott Adams _______. 

A. make fun of working people 

B. tells a story about as woman employee 

C. promote team spirit among co-workers 

D. mocks annual performance reviews 

52. All the following are mentioned as the drawbacks of annual performance reviews EXCEPT 

________. 

A. reducing efficiency 

B. creating tension 

C. undermining morale 

D. inducing anger 

53. The word “ordeal” Paragraph 3 probably refers to _____. 

A. likelihood of promotion 

B. depressive experience 

C. poor performance 

D. unrealistic expectation 

54. The annual performance reviews, to be effective, must focus on ________. 

A. making employees aware of their company’s future goals 

B. involving employees in assessing their own performance 

C. encouraging employees to achieve better future performance 

D. highlighting what responsibilities employees have failed in 

55. The general attitude of the author toward Adam’s comic strip Dilbert is ________. 

A. negative 

B. positive 

C. neutral 

D. unclear 

Part IV Cloze Test (15 minutes, 15 points) 

Directions: In this part, there is a passage with fifteen blanks. For each blank there are four choices marked A, B, C and D. Choose the best answer for each blank and mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
Advertising is a form of selling. For thousands of years there have been individuals who have tried to 56 others to buy the food they have produced or the goods they have made or the services they can 57 . 
But in the 19th century the mass production of goods 58 the Industrial Revolution made person-to-person selling inefficient. The mass distribution of goods that 59 the development of the railway and highway made person-to-person selling too slow and expensive. At the same time mass communication first newspapers and magazines then radio and television made mass selling through 60 possible. 

The objective of any advertisement is to convince people that it is in their best 61 to take the action the advertiser is recommending. The action 62 be to purchase a product use a service vote for a political candidate or even to join the Army. 

Advertising as a 63 developed first and most rapidly in the United States the country that uses it to the greatest 64 In 1980 advertising expenditures in the U.S. exceeded 55 billion dollars or 65 2 percent of the gross national product. Canada spent about 1.2 percent of its gross national product 66 advertising. 
67 advertising brings the economies of mass selling to the manufacturer it produces benefits for the consumer 68 . Some of those economies are passed along to the purchaser so that the cost of a cost of a product sold primarily through advertising is usually far 69 than one sold through personal salespeople. Advertising brings people immediate news about products that have just come on the market. Finally advertising 70 for the programs on commercial television and radio and for about two thirds of the cost of publishing magazine and newspapers. 

56.A.request B. oblige C. affect D. persuade 

57.A.transfer B. secure C. enjoy D. perform 

58.A.resulting from B. dealing with C. leading to D. going for 

59.A.followed B. preceded C.ach5eved D. induced 

60. A. marketing B. advertising C. salespeople D agents 

61. A. profits B. benefits C. interests D. gains 

62.A. should B. would C. may D. will 

63. A. business B. service C product D. profession 

64. A. amount B. extent C. possibility D. utility 

65, A similarly B. supposedly C. approximately D. accountably 

66. A. with B. at C. into D. on 

67. A. While B. Therefore C. But D. If 

68. A. as well B. as usual C. as a result D. as a rule 

69. A. more B. less C. cheaper D. dearer 

70. A. works B. calls C. looks D. pays 

Part V Error Detection (10 minutes, 5 points) 

Directions: In this section, there are 10 sentences. Each sentence has 4 underlined words or phrases marked A, B, C and D. Identify the part of the sentence that is incorrect. Mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET. 
71. During the dinner we had agreeable conversation-nothing extraordinary-but catching up on 

A                   B                  C 

recent events of each other’s life. 

D 
 72. Because of the injured people laying on the ground below the window, fire fighters were unable 
A           B                                           C 
to the windows on the northeast side of the building. 

D
73. You’d better hurry up if you want to buy something because there’s hardly nothing left. 

A              B                C                        D 
74. A professional wine taste relies on sight, smell and tasting to determine the quality of a wine. 

A               B      C                   D 

75. Sam used to live in Oklahoma, but his company had him transfer to a better position In Georgia. A                B                 C          D 

76. Not too many years ago, it was an excited experience to travel 25 or 50 miles away from home. 

A                           B               C                   D 

77. It is perhaps not an exaggeration to say that we shall soon be trusting our health, wealth, and 

A                    B 

happiness to elements with whom very names the general public are unfamiliar. 

C                           D 

78.China has established three nature reserves to protect the rare species, covering a total of 

A                  B                 C 

more than600,000 sq km, an area 40 times of the size of Beijing. 

D 

79. It aims to establish a minimum list of standards that ought to include in all codes of conduct 

A                                       B    C 

covering labor practices. 

D 

80.I saw that the last update was made in January of 2002,so I wondered that the webmaster 

A                            B                 C 

had abandoned the site.
D

卷二

Part ⅠTranslation (30minutes, 20 points,10 for each section) 
Section A 

Directions: Translate the following passage into Chinese. Write your translation on the ANSWER SHEET.
One of the chief concerns of wildlife management is the protection and improvement of the natural habitat so that animals have enough food and water to survive. Wildlife management involves care of the soil to produce good vegetation; it also involves care of plants, not-only as a source of food, but also as protection. Animals need cover to hide from their natural enemies and to raise their young safely. 
Just as crops are harvested, wildlife too must sometimes be 'harvested'. by allowing limited hunting, good management can control certain species that threaten to overpopulate their habitat.
Section B

Directions: Translate the following passage into English write your translation on the ANSWER SHEET.
随着社会的发展，人类对水的需求不断增加，但可供人类使用的水资源却急剧院减少。水资源危机所带来的生态系统恶化等问题严重威胁着人类的生存。如何更有效地利用水资源，推进水资源的可持续开发和保护，已经成为世界各国共同面对的紧迫问题。
Part Ⅱ Writing
Directions: In this part, you are to write a composition of no less than 150 words about “College Graduates Work as Village Officials”. You should write according to the outline given below. Please remember to write it clearly on the ANSWER SHEET.

Some college graduates choose to work as village officials.

1.    Do you think it is a good idea? 

2.    What can they offer the countryside? 

3.    What can they gain from their village positions? 

答案

Part I．Dialogue Communication

1－5 C D A D B    6-10 C A A C C

Part II  Vocabulary
Section A
1－5 A C A C D    16-20 C A C C B 

Section B

21－25 B A C C D   26-30 A B B C B 

Part III Reading Comprehension

31-35 A D A A D    36-40 B C D B A    41-45 D B C B D

46-50 B A B A C    51-55 D A B C B 

Part IV Cloze Test
56-60 D D C A B    61-65 C C A B C    66-70 D A A B D  

Part V Error Detection
71-75 C B D B C    76-80 B C D C C

翻译：

参考译文：
野生动物管理部门首要关心的事就是保护和改善它们的自然栖息地以使动物们有足够的食物和水来生存。野生动物管理部门专注于保护土壤，培育出良好的植被，他们还专注于保护植物，植物不仅可以能作为野生动物的食物来源，还能作为它们的保护者。动物需要用植物来掩护自己以躲避天敌和安全地抚育自己的孩子。就象庄稼收获一样，野生动物有时候也必须被“收获”，通过允许有限的捕猎，好的管理部门能控制某些物种使他们不至因过度繁殖而威胁到他们的栖息地。


Section B
With the development of the society, man’s demand for water has been constantly increasing, but the water resource available for human is sharply decreasing. the deterioration of ecosystem brought about by the water crisis threaten to human's existence seriously. how to make use of the water resource effectively and promote the sustained development and protection of water resource has become an urgent problem which should be faced together by all the countries in the world.
2007 年同等学力人员申请硕士学位外国语水平全国统一考试
英语试卷一
Pager One 试卷一
PARTⅠ Dialogue Communication (10 minutes , 10points)

Section A Dialogue Completion

1.A: How about having lunch with me today, paul?

B: _______

A. I’ll see you then

B. Thanks a lot

C. Sounds great

D.I can come anytime

2. A: I’m anxious to get started on my project. Can we discuss it sometime before the weekend?

B: _______

A. Why didn’t you tell me earlier

B. Yes, that could he arranged

C.I can’t spend any time

D. Yes, it’s easy to discuss it

3,A:Hello,George.What a lovely home you have!

B: _______

A, Yeah, this garden is beautiful.

B. Nice to have you drop by

C. Why, thank you. I’m glad you could come

D. Let’s sit here so we can admire the view

4.A：Do you feel like doing anything this weekend Jerry?

B:_______

A. No, I don’t mind doing anything.

B. Yes, all right. What do you suggest?

C. We could always go to Dave’s party

D. How do you like science fiction movies?

5.A:Excuse me, boss. There’s a Jack Welsh on the line. Do you want to talk to him?

B_______

A. Oh, I’m afraid I won’t

B. No. have him call back later.

C. Does he want to leave a message?

D. Would you please hold my calls?

Seetion B Dialogue Comprehension

Directions：In this section, you will read 5 short conversations between a man and a woman. At the end of each conversation there is a question fallowed by 4 choices marked A,B,C, and D. Choose the best answer to the question from the 4 choices by marking the corresponding Letter wish a single hard across the square brackets on your machine-scoring ANSWER SHEET

6.Woman:You were late again this morning.

Man: So what?

Question: How docs the man react to the woman’s blame?

A. He felt sorry for being late.

B. He did not admit he was late.

C. He got nervous for being late.

D. He did not care about being late.

7.Woman:The software is very user-friendly.

Man: Yes, but is leaves something to be desired.

Question: What does the man think of the software?

A. It is of excellent standard.

B. It is of very low standard.

C. It has reached the expected standard.

D. It does not reach the expected standard.

8.Man:Hi,Susan I hear your ski trip was out of this world!

Woman: It was wonderful I didn’t want to come back to the real world!

Question: What can we learn about Susan?

A. She preferred to live in an unreal world.

B. She enjoyed the skiing very much .

C. She lost contact with this world.

D. She failed to carry out her ski plan.

9.Woman: Wally, the necklace is beautiful, but really, you shouldn’t have!

Man: You’re welcome. I think it looks beautiful on you.

Question: What did Wall do for the woman?

A: He bought her necklace.

B: He helped her put on the necklace.

C: He helped her choose a necklace.

D: He tried to flatter her.

10.Woan: When we lived in Paris I worked part time. But since we moved just cook and clean. I get tired of doing the same old things day by day.

Man: It sounds like you need to get out of the house

Question: What does the man advise the woman to do ?

A. To get a job.

B. To move to another place.

C. To visit some friends.

D. To do some outdoor exercises.

Part II Vocabulary (10 minutes, 10 points)

Section A

Directions: In this section there are 10 sequences, each with one word or phrase underlined. Choose the one from the 4 choices marked A,B,C and D that best keeps the meaning of the sentence . Then mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET

11 By advocating (moderate) change, they think that they can keep consumer costs low.

A. reasonable B. radical

C. immediate C minimum

12 Nuclear power, with all its inherent problems, is still the only (option) to

guarantee enough energy in the future.

A. solution B. policy

C choice D. reason

13.The promised wage increase is being (held back ) while it is examined by the government to see if it is greater than the law allows.

A . dismissed B. delayed

C. neglected D. rejected

14.Safety officials have (earnestly ) questioned whether the increased use of synthetic materials heightens the risk of fire

A. cautiously B. severely

C. accurately D. seriously

15.The book shifted her (outlook )form social to spiritual, for its theme was that before you change other people you have to change yourself.

A. viewpoint B. vocation

C. prospect D. preference

16.Racing the clock every day is such an exhausting effort that when I actually have a few free moments, I tend to collapse
A: fall down B: fall in

C: fall out D: fall behind

17.The senator agreed that his support of the measure would jeopardize his chances for reelection

A: benefit B: endanger

C: hinder D: disturb

18.The microscope enables scientists to distinguish an incredible number and variety of bacteria .

A: unavoidable B: unchangeable

C: unbelievable D: unpredictable

19.He noticed that Joan was studying him closely ,but her expression gave away nothing of what she was thinking.

A: revealed B: disposed

C: reminded D: distributed

20.At last john Smith chose to step down as the company’s chief executive and return to his roots in software research.

A: resign B: remove

C: retire D: replace

Section B

Directions: In this section ,there are 10 incomplete sentence .For each sentence there are 4 choices marked A,B,C and D.Choose the one best completes the sentence. Then mark the corresponding letter with a single bur across the square brackets on your machine-scoring ANSWER SHEET

21:His essay is _with more than 120 full-color photographs that depict the national park in all seasons .

A: contained B: illustrated

C: exposed D: strengthened

22:Local government _could be obtained through a local income tax and/or a local sales tax.

A. budget B. expense

C. finance D. revenue

23Even after reading it for three limes he couldn’t_ the meaning of that letter.

A: conceive B: consult

C: contrast D: concern

24:The temperature in this area is low enough to allow falling snow to __and slowly transform into ice.

A: preserve B: accumulate

C: melt D: spread

25:In calculating the daily calorie requirements for an individual ,variations in body size ,physical activity and age should be______.

A: brought into practice B: taken into account

C: thrown light on D: looked down upon

26:The shy girl felt quite _____and uncomfortable when she could not answer the interviewer’s question.

A: amused B: sensitive

C: curious D: awkward

27:The courses aim to give graduates an up-to-date grasp of their subject and _______laboratory skills.

A: superficial B: subjective

C: structural D: sophisticated

28: There was no light on the way and for a second she hesitated ,unable to ____the dim figure awaiting her.

A: set out B: make out

C: pick up D: clear up

29: Some people apparently have an amazing ability to ______the right answer.

A: come up with B: look up to

C :put up with D: live up to

30:I had been a university student for three years, but not until this afternoon had felt the thrill of___.

A: confusion B: disappointment

C: sensation D: fulfillment

Part III Reading Comprehension (45 minutes,25 points)

Direction: There are 5passages in this part, Each passage is followed by 5qustions or unfinished statements. For each of them there are 4 choice marked A,B,C and D. Choose the best one and mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET.

Passage one

They may be one of Britain’s most successful exports and among the world’s most popular TV shows, ranking alongside the World Cup Final and the Olympics Games opening ceremony in terms of audience .But, in Britain, beauty competitions are unfashionable. To most people ,beauty contests seems as out-dated as bowing . Nicolas Baker, a lawyer in London，said that “As much as I think it’s fine for women to do it ,I don’t think it’s interesting and in fact ,I think they’re  irrelevant to today, last year, Miss World was broadcast to 142 countries ,but it wasn’t even shown in the country where it started in 1951.

It wasn’t always this way in Britain .Once beauty queens dated footballers ,traveled the world and were guaranteed fame、fortune and fun .Now, they open new supermarkets ,are sponsored by dry-cleaning companies and if they’re lucky, they get free clothes form supermarkets . When Francesca merchant was crowned Miss Sussex in 1969 it was something to be extremely proud of “I came from a small town ,and all my friends were green with envy when they found out I’d won .My boyfriend at the time thought it was terrific and boasted to everyone that be was going out with a beauty queen . But the good times couldn’t lest .The feminist movement gathered

momentum .Some women were determined to bring an end to these “cattle shows”. Nowadays, saying that you were a beauty queen just doesn’t sound good . Miss World organizers claim that contestants are judged on quantities other than just their physical appearance .But Jacqueline Gold, England’s representative at this year’s contest, was not chosen because of her academic record ,The Miss World Website states that she “left school having gained many computer qualifications , and certificates in First Aid and Lift Saving . meaning ,not of an education .

The only time contests attract attention now is because of the protesters .At the 1999 Miss World in Britain around 60 demonstrators hurled flour bombe and fought with the police ,They denounced the beauty contest as a “sexist cattle marker “ .They waviest hangers saying “fat girls are cool “and “women’s bodies are not for sale “.

31.Beauty contests in Britain are now__________

A. bringing huge benefits for the country.

B. as popular as the World Cup Final

C. no longer popular in the country

D. widely protested in the country

32.The attitude of Nicolas Baker towards beauty contests is that_________

A. women shouldn’t attend the contests

B. the contests are fine but he doesn’t like them

C. the contests are insults to women

D. the contests are behind the times

33. In the 60s and 70s beauty queens________

A. were sponsored by dry-cleaning companies

B. were admired by most people

C. did not clothes from supermarkets

D. got free clothes from supermarkets

34.The author uses Jacqueline Gold as an example to show that_________

A. her academic record was very strong

B. she had gained many qualifications and certificates

C. contestants are judged on their education

D. contestants are judged on their education

35. The best title for passage might be_________

A. Beauty Contests: Insults Women

B. Beauty Contests: Sexist Cattle Market

C. Beauty Contests: A Headache for British people

D. Beauty Contests: Started in Britain but Unpopular Now

Passage two

A particular area in which assumptions and values dirtier between cultures is that of friendship .Friendships Americans tend to be shorter and less intense than these among people from many other cultures .At least many observers form abroad have this impression .Because Americans are taught to be self-reliant, because they live in a very mobile society ,and for many other reasons as well, they tend to avoid deep involvement with other people, Furthermore ,Americans tend to “compartmentalize “ their friendships, having their “friends at work “, “friends at school “ ,a “tennis friend”, and so on Americans often seen very Friendly even when you first meet them .This friendliness does not usually mean that the American is

looking for a deeper relationship .

The result of these attitudes and behaviors is sometimes viewed by foreigners as an “inability to be friends”. Other times it is seen as a normal way to retain personal happiness in a mobile, ever-changing society . People normally have in their minds stereotypes about people who are different from themselves .Stereotypes are based on limited and incomplete experience and information, but they shape people’s and expectations. Americans have many serotypes about foreign starlets in general (for example, that they are very hard working intelligent , and rich that they do speak English well )and about particular categories of foreign saddens (Chinese are polite and good at mathematics for example, Americans ,for example , that they are arrogant ,rude, and generous. There are two stereotypes that often affect male-female relationships involving U.S. and foreign student ,The first is the idea held by some foreign males , that American females are invariably willing ,if not anxious to have sex. The existence of these and other stereotypes held by some American females is that male foreign students have no interest in American females other than having sex with them .The existence of these and other stereotypes can give to considerable misunderstanding and can block the development of a mutually satisfactory relationship between particular individuals . Stereotypes seem unavoidable given the way the human mind seeks to categorize and classify information , so it is not realistic to suppose people can “ forget their stereotypes “ .But they can be aware of their stereotypes ,and be ready to find exceptions to them.

36 . Consuming friendship ,Americans__________

A. look for a deeper relationship in a close circle

B. avoid deep relationship with other people

C. are friendly at first but do not remain so later on

D. do not make good friends

37. The word “compartmentalize” in the first paragraph means “_______________”

A separate in categories B treat differently

C evaluate accordingly D judge fairly

38. The author’s attitude toward the American type of friendship seems to be ______

A approving B critical

C biased D objective

39. According to the author, stereotypes concerning male-female relationships involving U.S. And foreign students are ________

A helpful B meaningless

C harmful D useless

40 According to the author, stereotypes seem unavoidable because ______________

A it is natural to have them

B it is not easy to find exceptions

C they provide better understanding

D they contribute to friendship

Passage Three

In The Birth Order Book : Why You Are the Way You (2004) , Dr,Kevin Leman Notes that 21 of the first 23 Americans in space were first-born males or only children . More than half of United States presidents have been first-borns or first –born boys. It’s a pretty significant finding historically, because families used to be bigger than they are today . In addition to being high achievers, older children also generally have higher IQs (智商) Than younger ones. Researchers have noted that the more kids a family has , the lower each child’s Individual IQ tends to be ,They give a few reasons for this : Parents only have so much time ,attention, and money . The more kids they have, The more these things are divided . First-borns initially get the entire parental-time pic. What’s more. The ratio of Grown-ups to kids decreases with each new baby . So the younger ones are surrounded by more children’s language on average than the older kids.

Some researchers think parental attention is the key to personality/birth-order differences. In his book born to Rebel ,psychologist Frank sallow ways competition for Mom and Dad’s attention is the thing that really shapes our personalities and ,in fact , has shaped history . He argues that we adapt our Personalities as part of our strategy to seek favor from Mom and Dad. Younger siblings(兄弟姐妹) tend to become rebels . Sulloway studied political activists and found that later-born activists were more radical than their first –born peers.

The conclusion of his book is that sibling competition for parental attention can affect society as a whole in times of revolution Thomas Jefferson , Karl Marx and Fidel Castro were all younger siblings , for example. As compelling as this all is , it’s also something we should probably take with caution, there are other things that happen to us in life besides the addition of siblings to our families .A parent can die ; a hurricane can leave us homeless ; we can catch a life-threatening disease. Any one of these things will probably have more of an effect on our personalities than the presence of siblings .

A 2002 study bore this out . After interviewing 535 undergraduates researchers concluded that personality differences related to birth order were “ folklore” , although IQ and achievement differences were widely supported by research .

41. What is implied by “they younger ones are surrounded by more

children’s language on average than the older kids” (para.3)?

A Younger children need parental rather than siblings’ attention

B Younger children need siblings’ rather than parental attention

C Younger children feel uncomfortable with more siblings

D Younger children have less chance to talk with their parents

42 Sulloway, author Born to Rebel, suggests that younger siblings_______

A try hard to get attention from their parents

B are less likely to shape history

C are winners in getting parental attention

D seldom adopt their personalities

43 .Which of the following is NOT mentioned as a factor shaping personality?

A Death of a parent

B Children’s language

C A natural disaster

D A fatal disease

44. What is the meaning of “folklore” in the last paragraph?

A Traditional customs and beliefs

B Verified hypotheses

C Widely held unsupported notions

D Tales or saying preserved orally

45. Which of the following statements is proposed by researchers?

A Later—borns do not compete for attention

B First—borns tend to become rebels

C Later—borns are prone to diseases

D First—borns achieve more than younger ones.

Passage Four

Does money buy happiness? It’s sometimes said that scientists have found no relationship between money and happiness, but that’s a myth, says University of Illinois psychologist Ed Denier. The connection is complex. in fact, very rich people rate substantially higher in satisfaction with life than very poor people do, even within wealthy nations .he says “There is overwhelming evidence that money buys happiness.” said economist Andrew Oswald of the University of Warwick in England. The main debate, he said, is how strong the effect is. Oswald recently reported a study of Btitons who won between $2,000 and $250,000 in a lottery(彩票拍奖).As a group, they showed a boost in happiness averaging a bit more than one point on a 36-point scale when surveyed two year after their win, compared to their levels two years before they won.

Daniel Kahneman, a Nobel-Prize winner and Princeton economist, and colleagues, recently declared that the notion that making a lot of money will produce good overall mood is “mostly illusory”. They noted that in one study, members of the high-income group were almost twice as likely to call themselves “very happy” as people from households with incomes below $2,000.But other studies, rather than asking for a summary estimate of happiness, follow people through the day and repeatedly record their feelings. These studies show less effect of income on happiness, Kahneman and colleagues said.

There is still another twist to the money-happiness story. Even though people who make $150,000 are considerably happier than those who make $40,000,it’s not clear why, says psychologist Richard E.Lucas of Michigau Sate University. Researchers conclude that any effect of money on happiness is smaller than most daydreamer assume. “People exaggerate how much happiness is bought by an extra few thousand,” Oswald said. “The quality of relationships has a far bigger effect than quite large rise in salary….It’s much better advice, if you’re looking for happiness in life, to try to find the right husband or wife than to try to double your salary.”

46.The main purpose of this passage is to discuss____

A. The contributions of household incomes to happiness

B. The complex relationship between money and happiness

C. The positive relations of money to happiness

D. The negative relations of money to happiness

47.Andrew Oswald’s study____

A. Proves money has little effect on happiness

B. Gives evidence that money buys happiness

C. Rejects the relation between money and happiness

D. Shows that lottery brings people happiness

48.The word “illusory”(para.4)is closest in meaning to“___”.

A. Dramatic B. Ordinary

C. Drastic D. Imaginary

49.According to Lucas, richer people’s happiness____

A. Comes from their high income

B. May not be directly related to their high income

C. Is boosted by their high income

D. Is not derived from their high income

50.According to Oswald,a more important factor in bringing about happiness may be good____.

A Health B. Feelings C. Marriage D.Salaries

Passage Five

When Frand Dale look over as publisher of Los Angeles Herrald-Examiner, the organization had just ended a ten-year strike. There was much bitterness and as he told us. “Everybody that I found there had lost their curiosity, they’d lost their cutting edge, there was no interest, they just hung on….I had a real problem.” His very first task was to introduce himself to everybody, to thank them for their loyalty to that point, and to allow them to express their concerns and frustrations. To questions like  “What makes you think you can make this thing go?” he responded, “I don’t know yet, but in thirty days I’ll come back to you and let you know what I’ve found.” He recruited a task force Of the best people from throughout the Hearst Corporation to do a crash study, and in thirty days he had a written report on what needed to be done, which he shared with the staff. He had taken the all-important first steps to establish mutual trust, without which leadership would not have been possible.

Trust is the emotional glue that binds followers and leaders together. The accumulation of trust is a measure of the legitimacy of leadership of leadership. It cannot be demanded or purchased; it must be earned. Trust is the basic ingredient of all organizations, the lubrication that maintains the organization and it is as mysterious and difficult a concept as leadership-and as important.

One thing we can say for sure about trust is that if trust is to be generated, there must be predictability, the capacity to predict another’s behavior, another way of putting it is to say that organizations without trust would resemble the ambiguous nightmare of Kafka’s The Castle, where nothing can be certain and nobody can be relied on or he held responsible. The ability to predict outcomes with a high probability of success generates and maintains trust.

51. What was Frand Dale’s problem when he became the publisher of Las Angles Herald-Examiner?

A. He had lost interest in his publishing career.

B. he found it hard to introduce himself to everyone.

C. Los Angeles herald- examiner was in extreme difficulty.

D. Los Angeles herald –examiner was on a ten-year strike.

52.What was the result of frank dale’s first steps?

A .Mutual trust was established.

B. Efficiency was improved.

C.A task force was recruited.

D. His promises were fulfilled.

53.According to the author, how could trust be established?

A By economic means..

B. By legitimate measure.

C. By authoritative command.

D. By effort or action.

54.What does the author think about trust?

A It is hard to accumulate..

B. It can make organization go.

C. It can help establish authority.

D. It is relatively easy to acquire.

55. For what propose is kafka’s The Castle mentioned?

A. To show people’s behaviors are

B. To describe the nightmare of the story.

C. To demonstrate the importance of trust.

D .To prove no one can be relied on.

Part IV Cloze

The process of the gaining or losing weight can be explained by comparing your body to your car. Both run____56__fuel,food for your body and gasoline for your car. Both___57__that fuel. first into heat ,then energy, some of____58___is used to do work, and some emitted as waste, and____59__your car uses more energy when the engine is racing than when it is idling, ____60____does your body use more energy when you are working hard than______61___you are resting.

For the purpose of this comparison,______62_____,there is one significant difference between them. Your car cannot store fuel by turning it into_____63____else; all gasoline not _____64______remains as gasoline. But your body stores____65______energy as fat. When the gas lank is ____66____empty,the car won’t run; but your body can burn fat to Provide more energy. Therefore ,if you want to gain weight ,you must do ___ of two things: eat more calories (units of heat, therefore ), or use less through ___ .if you want to lose weight, you do the ___ : decrease your intake of calories or increase the amount of energy you spend. There is ___ way .gaining or losing weight is always a relation between intake and output of potential energy.

56.A.in B. on C. for D. against

57.A.convert B. use C. spend D. burn

58.A. what B. which C. it D. them

59.A.whereas B. although C. just because D just as

60.A.as B. so C. way D. how

61.A. that B. since C. when D. where

62.A.however B. therefore C. moreover D. likewise

63.A. everything B. nothing C. something D. anything

64.A.filled B. wasted C. saved D. consumed

65 A. useless B. enough C. excess D. extensive

66 A. half B .completely. C. almost D. hardly

67.A.any B. both C. either D. neither

68.A. inactivity B. inattention C. eyeing D. jogging

69. A. reverse B. relevant C. different D. same

70.A.not any B. no other C. another D. some

Part V Error Detection (10 minutes,5 points)

Directions : in this part, there are 10 sentences Each sentence has 4 underlined words

or phrases marked A.B.C. and D. identify the one underlined word or phrase that must

be changed in order for the sentence .Mark the corresponding letter with a single bar

across the square brackets on your machine-scoring ANSWER SHEET.
71. It is becoming far less common than it was used to he for children to follow in their

A B C

fathers’ foot steps.

D

72. No matter poor one may be ,one can always find something to be thankful for.

A B C D

73. At no time in the history of mankind women have greater opportunities for

A B C

following careers than they have now.

D

74.Admirers of American ballet has claimed that its stars can dance as well as or

A B C

even better than the best of the Russian artists.

D

75.Scientists created a brainy, four-legged robot resemble a starfish that can

A B

sense damage to its body, and think up a way to recover.

C D

76.We are at a critical point in our nation’s history and we cannot go back as

A

individuals or as a country to what we were ten ,five or even one year earlier.

B C D

77.He pointed out that a considerable gap existing between the number of hours

A B

people are paid for working and the number of hours spent in productive labor .

C D

78.I would have come to see you had it been possible, but I had been so busy then

A B C D

79.All of the plants now raised on farms have been developed from plants once grew wild.

A B C D

80.The population of this small town has more than doubled in the past few decades.

A B C D

英语试卷二
ENGLISH QUALIFICATION TEST

FOR MASTER-DEGREE APPLICANTS

PAPER Two (60 MINUTES)

PARTⅠ Translation (30 minutes , 20points)

PARTⅡ Writing (30 minutes , 15points)

PARTⅠ Translation (30 minutes , 20points)

Section A

Directions: Translate the following passage into Chinese . Write your translation on the ANSWER SHEET

The standardized educational or psychological test that are widely used to aid in selecting, classifying, assigning, or promoting students, employees, and military personnel have been the target of recent attacks in books, magazines, the daily press, and even in congress. The target is wrong, for in attacking the tests, critics divert attention from the fault that lies with ill-informed or incompetent users. The tests themselves are merely tools, with characteristics that can be measured with reasonable precision under specified conditions. Whether the results will be valuable, meaningless, or even misleading depends partly upon the tool itself but largely upon

the user.

Section B

Directions: Translate the following passage into English. Write your

translation on the ANSWER SHEET

最近一项调查表明，中国大部分的建筑无论是办公楼还是居民楼，消耗的电
资源或水资源比发达国家的同类建筑都要多，例如，北京的居民平均消耗气候类
似的德国北部家庭的三倍。中国是资源短缺的国家，我们必须节约资源，才能保
证我国经济持续发展。
PARTⅡ Writing (30 minutes , 15points)

Directions: Who and How to Take Care of seniors?
参考答案：

PARTⅠ Dialogue Communication (10 minutes , 10points)

1 C

2 A

3 C

4 B

5 D

6 D

7 D

8 B

9 C

10 A

PARTⅡ Vocabulary (10 minutes , 10points)

11-15 A C D D A

16-20 A B C A A

21-25 B A A B B

26-30 D D B A B

PARTⅢ Reading Comprehension (45 minutes , 25points)

31-35 C D B D D

36-40 B A D C A

41-45 D A B C D

46-50 B A D B C

51-55 C A D A C

PARTⅣ Cloze (15 minutes , 15points)

55－60 B A B D B

61－65 C A C D C

66－70 B C A A B

PARTⅤ Error Detection (10 minutes , 5points)

71 B used to be

72 A no matter how

73 B do women have

75 B resembles

76 C when

77 D spend on

78 C was

79 D grown

80 C doubled

英语试卷二参考答案
PARTⅠ Translation (30 minutes , 20points)

Section A

准化教育测试或心理测试现在广泛应用于协助选拔、分类、委派或提升学生、
雇员和军事人员，这些测试一直是某些人近年来在图书、杂志、日报、甚至国会
中抨击的目标。把这种标准化测试作为抨击的目标是不对的，因为，在抨击这类
测试时，批评者没有考虑其弊病来自人们对测试不甚了解或使用不当。这些测试
本身只是一种工具，其各种特性是可以在规定的条件下用相当的精度来测定的。
测试的结果是有价值的，还是无意义的，甚至是误导的，部分取决于这种工具本
身，但主要取决于测试的使用者
Section B

A survey made recently indicates that most of buildings in China, no matter for

office or residential purpose, all consume more electricity and water resources

compared to that of foreign countries. For instance, energy consumption for Beijing

residents is three times as much as that of the families in north German under the

similar whether conditions. As China is an energy shortage country, therefore we

Chinese should save (economize) resources so as to ensure the sustainable

development for Chinese economy.

PARTⅡ Writing (30 minutes , 15points)

Who and How to Take Care of seniors?

Since China adopted one-child policy, together with improvement made in the

social undertakings such as welfare and health care, there has emerged a problem of

how to support seniors in recent years.

As every coins has two sides, the side effect of one-child policy is appeared, for

example, the child regarded by other family members as the little prince or princess,

always has his wishes satisfied without difficulty. Growing up is this family, no

wonder they lack in sense of caring for others and learning to be independent of

parents. Can they support their aging parents whose life expectancy has been

prolonged?

To effectively cope with this social problem of taking care of seniors today, I

may put forward several suggestions as follows:

First, young adults in a family should spend more time with their elder members,

giving financial help, chatting over favorite topics, doing family work. Secondly, the

governments at all levels should finance the construction of more seniors care centers

for aged people who wish to lessen the burden of their children. Last but not the least,

the sense of responsibility for caring the seniors should be planted to the heart of

everyone.

To sum up, I firmly hold that taking care of the seniors is one of the traditional

virtue in China and it involves the effort of young adults together with love from

every corner of the society, particular social institutions. Only by doing so can we

build a harmonious society.
2008 年同等学力人员申请硕士学位外国语水平全国统一考试 A

英语试卷一

Paper One试卷一 
Part I Dialogue Communication(10 minutes,10 points) 

Section A Dialogue Completion 

Directions：In this section, you will read 5 short incomplete dialogues between two speakers, each followed by 4 choices marked A, B, C, and D．Choose the answer that best suits the situation to complete the dialogue by marking the corresponding letter with a single bar across the square 

brackets on your machine-scoring ANSWER SHEET. 

1． A： Bob， would you mind turning down the TV a little? I'm talking on the phone， and I'm having a hard time hearing． 

B：____________ 

A．Please forgive me． 

B．Oh，sure! I’m sorry about that． 

C．You should have told me earlier． 

D．I’m sorry to hear about it. 

答案：B 

2．A：Hi，I'm your neighbor in 405，next door I'm Sunny Chan． 

B：____________

A．I moved here about a week ago． 

B．Hope we could become good neighbors． 

C．Hi! Everyone here seems very friendly． 

D．Jill Kingston．Nice to meet you． 

答案：D 

3．A：Could you run me over to the office? I'm late. My clock must be slow． 

B：____________ 

A．Yes，never mind．I would rather give you a lift． 

B．All right．But you should buy a new clock． 

C．It’s my pleasure．May I help you fix your clock，too? 

D．Yeah，I'll be glad to drop you off on my way to work． 

答案：D 

4．A：I’m sorry．He’s not in his office． 

B：______________ 

A．Are you Sure he will be back soon? 

B．Would you like to leave a message? 

C．Can you take a message for me? 

D．Shall I call him sometime later? 

答案：C 

5．A：Do you mind if I take off my jacket? 

B：______________ 

A．Of course not，make yourself at home． 

B．Oh，it’s very kind of you to do so． 

C．I’ll be happy if I can be of any help． 

D．Yes，it’s pretty warm in here． 

答案：A 

Section B Dialogue Comprehension 

Directions：In this section，you will read 5 Short conversations between a man and a woman．At the end of each conversation there is a question followed by 4 choices marked A, B, C, and D．Choose the best answer to the question from the 4 choices by marking the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET．

6．Man：Bob and Sue seem never discipline their daughter. She’s real nuts. 

Woman：They are kept in the dark about their daughter’s behavior at school． 

Question：What can we learn about Bob and Sue’s daughter? 

A．She likes to eat nuts． 

B．She is self-disciplined． 

C．She behaves badly at school． 

D．She enjoys leaving her parents in the dark． 

答案：C 

7．Woman：Now，Richard，would you care to explain how the answers to the test questions appeared on your desk? 

Man：I call’s，Professor Harley．Someone must have left them on my desk． 

Question：What is the man’s problem? 

A．He is suspected of cheating 

B．He left the answers on his desk． 

C．He doesn’t know how to explain． 

D．He didn’t know the answers to the questions． 

答案：A 

8. Woman：Don’t forget to drop me a line when you settle down． 

Man：I won’t．I’ll keep you posted． 

Question：What does the man mean? 

A．He’ll  write to the woman． 

B．He’ll tell the woman his new address． 

C．He’ll visit the woman once in a while． 

D．He’ll chat with the woman on the phone． 

答案：A 

9．Man：Betty, how was your trip to the museum with Tom this afternoon? 

Woman：Don’t ask me． 

Question：What does the woman mean? 

A．Something about the museum interested her． 

B．Something was wrong with the trip． 

C．She doesn’t know anything about the museum． 

D．She doesn’t want to answer the man’s question． 

答案：B 

10．Man：Hey, Mary．I Was invited to be a judge for the Miss America Beauty Contest． 

Woman：Oh，really? Come on，you're pulling my leg． 

Question：What does the woman mean? 

A．She has no chance to win． 

B．The man is encouraging her． 

C．She’ll attend the contest． 

D．The man is trying to fool her． 

答案：D 

Part Vocabulary(10 minutes，10 points) 

Section A 

Directions： In this section there are 10 sentences, each with one word or phrase underlined． Choose he one from the 4 choices marked A,B,C and D that best keeps the meaning of the sentence．Then mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET． 
11．The survey does not allow for the fact that some students are attending  part-time． 

A．explain  B．deny  C．consider   D．recognize 

答案：C 

12．British scientists have found how to diagnose the disease，which causes loss of  memory and 

personality change． 

A．control    B．determine  C．prevent D．treat 

答案：B 

13．Witnesses were allegedly tortured or subjected to pressure to fabricate evidence against him. 

A．fix up  B．take up  C．pack up D．make up  
答案：D 

14．So instead we spent the whole afternoon hanging around in the gorgeous autumn sun. 

A．golden    B．beautiful  C．warm      D．shining 

答案：B (the whole afternoon) 

15．I couldn’t work out  why anyone would invent something so boring． 

A．draw up    B．bring about C．put forward   D．figure out 

答案：D 

16．You can easily find out the benefits of flexible working for both you and your employer． 

A．loose B．effective C．elastic D．resourceful 

答案：C 

17．The State Department has issued a regulation abolishing the special privileges for government 

officials． 

A．grants    B．rights    C．advantages D．interests 

答案：B 

18．Will Americans go for AT&T’s plan of pushing the wireless services in theU.S.? 

A． support    B． adopt C． hinder D． attack 

答案：D 

19．What lies in pieces around them represents，in effect，a unique private exhibition open to a 

lucky few． 

A．in short  B．in particular C．in fact  D．in turn 

答案：C 

20． The weekend event will be centred around Wye College in Ashford, Kent， but the outing to the docks should be the highlight
． 

A．climax 高潮，顶点 B．pleasure 快乐 C．expectation 期望 D．surprise 

答案：A 

Section B 

Directions： In this section, there are 10 incomplete sentences． For each sentence thereare 4 choices marked A,B,C and D．Choose the one that best completes the sentence． Then mark the corresponding letter with a single bar across the square brackets on your machine-scoring ANSWER SHEET． 

2 1．Then in June 1967 the country _______________ diplomatic relations with Israel after    the outbreak of the Six Day War． 

A．broke away （from） B．broke off    C．cut out D．cut down 

答案：B 

22．Everyone has faced the embarrassing_____________of deciding how much extra to give a 

waiter or taxi—driver． 

A．incident  B．event  C. dilemma   D．menace威胁 

答案：C 

23．The school arranged road trip appears to____________the spring break． 

A．conform to符合，遵照 B．coincide with C．consist in 存在于 D．collide with冲突 

答案：B （appear to）

24．The new airport terminal is sure to______________the development of tourism． 

A．imitate模仿 B．fascinate 着迷 C．impose 征税，强加 D．facilitate使容易 

答案：D 

25．The Huntington Library has an____________collection of rare books and manuscripts of 

British and American history and literature． 

A．intensive   B．intentional   C．extensive  D．extensional 

答案：C 

26．Inflation will reach its highest in a decade across most of Asia this year, threatening 

to________________recent productivity gains． 

A．reverse B．reserve C．retrieve   D．revise 

答案：C 

27．Those governments will provide big food and fuel_____________according to the Asian 

Development Bank． 

A．substitutes B．substances C．subsequences D．subsidies 

答案：D 

28．In mild winters apple buds began to break soon after Christmas，leaving them_________to 

frost damage．

A．reluctant B．tough C．hostile D. vulnerable 

答案：D 

29．What is happening is a survival-of-the-fittest straggle affecting_________smaller factories in 

relatively low-tech，labor-intensive industries． 

A．primarily B．rationally C．primitively D．respectively 

答案：A 

30．A traditional critic has the advantage of being able to______________standards and values 

inherited from the past． 

A．turn up B．turn over 

C．turn to D．turn in 

答案：C 

PanⅢ Reading Comprehension(45 minutes，25 points) 

Directions：There are 5 passages in this part．Each passage is followed by 5 questions or 

unfinished statements. For each of them there are 4 choices marked A,B,C and D．Choose the best 

one and mark the corresponding letter with a single bar across the square brackets on your 

machine-scoring ANSWER SHEET． 

Passage One 

The job was done，and it was time for a last cigarette．Eddie began tapping the pockets of his 

overalls, looking for the new packet of Marlboro he had bought that morning．It was not there． 

It Was as he swung around to look in his toolbox for the cigarettes that Eddie saw the lump． Right 

in the middle of the brand new bright red carpet，there Was a lump．A lump the size of a packet of 

cigarettes． 

“I’ve done it again!”said Eddie allgrily． “I’ve left the cigarettes under the carpet!” 

He had done this once before，and taking up and refitting the carpet had taken him two 

hours． Eddie was determined that he was not going tO spend another tWO hours in this house． He 

decided to get rid of the lump another way．It would mean wasting a good packet of cigarettes， 

nearly full,but anything was better than taking up the whole carpet and fitting it again．He turned

to his toolbox for a large hammer. 

Eddie didn’t want to damage the carpet itself,so he took a block of wood and  placed it on top of 

the lump Then he began to beat the block of wood as hard as he could.He kept beating，hoping 

Mrs． Vanbrugh wouldn’ t hear the noise and come to see  what he was doing． It would be difficult 

to explain why he was hammering the middle of her beautiful new carpet…．The lump was 

beginning to flatten out． 

After three or four minutes，thejob Was finally finished．Eddie picked up his tools，and began to 

walk out to his car．Mrs．Vanbrugh accompanied him．She seemed a little worried about 

something． 

“Young man，while you were working today，you didn’t by any chance see any sign of 

Armand，did you? Armand is my bird．I let him out of his cage，you see，this morning，and he’ 

S disappeared． He likes to walk around the house， and he usually just comes back to his cage after 

an hour or so and gets right in． Only today he didn’ t come back． He’ S  never done such a thing 

before，it’S most peculiar…” 

“No，madam，I haven’t seen him anywhere， ”said Eddie，as he reached to start the Car． 

And he saw his packet of Marlboro cigarettes on the panel,where he had left it at lunchtime… 

And he remembered the lump in the carpet…． 

31．What did Eddie Want to do when he had finished fitting the carpet? 

A. To have a cigarette. 

B．To hammer the carpet flat． 

C. To put back his tools． 

D. To start work in the dining room． 

答案：A 

32．Why didn’t Eddie take out the thing under the cmget? 

A．It was impossible for him to take up the carpet once it was fitted. 

B．He didn’t need the cigarettes because he had some more in the Car． 

C. It would take too long to take up the carpet and refit it． 

D．He intended to come back and remove the lump the next day． 

答案：C 

33．What did Eddie do with the hammer? 

A. He drove nails into the lump． 

B．He fixed his toolbox． 

C．He retired the carpet． 

D. He flattened the lump． 

答案：D 

34．Mrs．Vanbrugh worried that______________. 

A. her pet was nowhere to be found 

B．fitting the carpet would be expensive 

C．Eddie would smoke in the house 

D．Eddie hadn’t done a proper job 

答案：A 

35．What was really underthe carpet? 

A．The packet of cigarettes． 

B．Eddie’S hammer.

C. A lump of wood． 

D．The missing pet. 

答案：D 

Passage Two 

If two scientists at Los Alamos National Laboratory are correct,people will still be driving 

gasoline-powered cars 50 years from now,giving out heat-trapping carbon dioxide into the 

atmosphere-and yet that carbon dioxide will not contribute tO global warming. The scientists，F 

Jeffrey Martin and William L．Kubic Jr．，are proposing a concept，which they have patriotically 

named Green Freedom, for removing carbon dioxide from the air and turning it back into 

gasoline． 

The idea is simple．Air would be blown over a liquid solution which would absorb the carbon 

dioxide．The carbon dioxide would then be extracted and subjected to chemical reactions that 

would turn it into fuel．Although they have not yet built a fuel factory,or even a small．prototype， 

the scientists say it is all based on existing technology． “Everything in the concept has been built， 

is operating or has a close cousin that is operating， ”Dr．Martin said．The proposal does not 

violate any laws of physics, and other scientists have independently suggested similar ideas．，In 

the efforts to reduce humanity’S emissions of carbon dioxide,three solutions have been offered： 

hydrogen-powered cars，electric cars and biOfuels．Biofuels are gasoline substitutes produced 

from plants like corn or sugar cane．Plants absorb carbon dioxide as they grow,but growing crops 

for fuel takes up wide strips of land．Hydrogen-powered Cars emit no carbon dioxide,but 

producing hydrogen requires energy,and if that energy comes from coal-fired power plants，then 

the problem has not been solved. The problem with electric cars is that they have typically been 

limited to a range of tens of miles as opposed to the hundreds of miles that can be driven on a 

tank  of gas． 

Gasoline，it turns out，is an almost ideal fuel(except that it produces carbon  dioxide)．If it 

Can be made OUt of carbon dioxide in the air,the Los Alamos concept may mean there is little 

reason to switch,after all． 

“It’s definitely worth pursuing， ”said Martin I. Hoffert，a professor of physics at New York 

University． “It has a couple of pieces to it that are interesting． ”Other scientists also said the 

proposal looked promising but could not evaluate it fully because the details had not been 

published． 

36. What is most remarkable about the proposal,made by the tWO scientists?。 

A.It  is given a patriotic name. 

B.No law of physics is violated. 

C. It is based on existing technology． 

D. Carbon dioxide Can be converted into fuel 

答案：D 

37. What is the biggest problem with hydrogen-powered cars？ 

A．There is no cheap source of hydrogen． 

B. There might be a safety problem in hydrogen production． 

C．They may still be a cause of global warming． 

D．They are not suitable for long-distance travel． 

答案：C 

38．If what is proposed by the two scientists becomes true,___________________.

A．air pollution will，become a thing of the past 

B.there will be no need for gasoline substitutes 

C. people will be able to use much cheaper engergy 

D．there will be no more biofuel-powered vehicles 

答案：B 

39. Which of the following Call best describe the attitude of Martin I Hoffert to the proposal? 

A．Indifferent． B. Positive.    C．Suspicious．D．Critical． 

答案：B 

40. The passage is mainly written to________________。 

A. introduce a newconcept 

B．compare different energy sources 

C．stress the importance ofgasoline 

D．discuSS solutions tO global warming 

答案：A 

Passage Three 

In her international bestselling Talk to the Hand,author Lynne Truss．argues that common 

courtesies such as saying“Excuse me”are practically extinct．There are certainly plenty who 

would agree with her． 

Is it really true?We decided to find out by experiments．In dozens of American cities,our 

reporters performed two experim6rits： “door tests”(would anyone hold one open for them?)；and 

“document drops”(who-would help them retrieve a pile of“accidentally” dropped 

papers?)．Along the way,the reporters encountered all types：men and women of different 

races,ages，professions,and income levels. 

While 90 percent of the people passed the door test，only 55 percent passed the document 

drop.Are people less likely to help others when doing so takes extra effort or time?Not always， he 

reporters found．Take the pregnant woman who thought nothing of bending down to help us with 

our papers．Or the woman named Liz who balanced two coffees，her keys and her wallet on a 

takeout tray with one hand，while picking up papers off the wet pavement with the other．Her 

reason for helping?“I was there,”shesaid． 

Overall，men were the most willing to help，especially when it came to document 

drops．In those，men offered aid 63 percent of the time，compared to 47 percent among 

women． Of course，men weren’ t entirely democratic about whom they’d help．All of them held 

the door for the female reporter,and were more than twice as likely to help her pick up fallen 

papers than they were to help our male reporter． 

By far,the most common reason people cited for being willing to go out of their way to help 

others was their upbringing． “It’ S the way I was raised， ” said one young woman who held a door 

open despite struggling with her umbrella on a rainy day in Brooklyn． 

We realize this isn’t a rigorous scientific study,but we believe it is a reasonable real-world test 

of good manners around the globe. And it's comforting to know that in a place where millions of 

people push one another each day tO get ahead，they’re able to  do it with a smile．Hey,if they 

Can make nice here，they can make nice anywhere. 

41．Which of the following is the best wold to describe the experiments? 

A．Scientific． B．Biased． C．Revolutionary． D．Realistic． 

答案：D

42 ． The examples of the pregnant woman and Liz are used to show that some 

people___________________． 

A．may take the trouble to help others 

B. Won’t take the trouble to help others 

C．mayhelp others save time 

D．won’t help others save time 

答案：A 

43．According to the experiments，________________. 

A．women are more careful． 

B．women are more likely tO need help 

C．men are more ready to．help 

D. men are more democratic in helping others 

答案：C 

44.Helping others is a behavior that is largely influenced by_______________. 

A．social norm 

B．family education 

C. pecifie situation 

D．personal character 

答案：B 

45．The results of the experiments have shown that common courtesies_______________. 

A．are still with us 

B．are disappearing 

C. vary with professions 

D. need rigorous study 

答案：A 

Passage Four 

Within a large concrete room，Cut out of a mountain on a freezing-cold island just  1,000 

kilometres from the North Pole，could lie the future of humanity． 

The room is a vault(地下库)designed to hold around 2 million seeds,representing  all known 

varieties of the world’S crops．It is being built to safeguard the world’S food  supply against 

nuclear War,climate change，terrorism，rising sea levels，earthquakes and  the collapse of 

electricity supplies。 “If the worst came to the worst，this would allow the world to reconstruct 

agriculture on this planet， ”says Cary Fowler,director of the Global Crop Diversity Trust，an 

independent international organisation promoting the project. 

The Norwegian(挪威的)government is planning tO create the seed bank next year at the request 

of crop scientists．The ＄3 million vault will be built deep inside a sandstone mountain on the 

Norwegian Arctic island of Spitsbergen．The vault will have  metre-thick walls of reinforced 

concrete and will be protected behind two airlocks and  high-security doors． 

The vault’S seed collection will represent the products of some 10，000 years of  plant 

breeding by the world’S farmers．Though most are no longer widely planted，．the varieties 

contain vital genetic properties still regularly used in plant breeding． 

To survive，the seeds need freezing temperatures．Operators plan to replace the air  inside the 

vault each winter,when temperatures in Spitsbergen are around-18℃．But even if some disaster 

meant that the vault Was abandoned,the permanently frozen soil would keep the seeds

alive． And even accelerated global warming would take many  decades to penetrate the mountain 

vault． 

“This will be the world’s most secure gene bank， ” Says Fowler． “But its seeds will only 

be used when all other samples have gone for sOme reason． ” 

The project comes at a time when there is growing concern about the safety of existing 

seed banks around the world．Many have been criticized for their poor security, ageing 

refrigeration(冷藏)systems and vulnerable electricity supplies. 

The scheme won UN approval at a meeting of the Food and Agriculture  Organization in 

Rome in October 2005．A feasibility study said the facility“would essentially be built to last 

forever” ． 

46．The Norwegian yault is important in that_________________. 

A．the seeds in it represent the rarest varieties of world’S crops 

B. the seeds in it could revive agriculture if the worst thing should happen 

C．it is built deep in a mountain on a freezing-cold Arctic island 

D．it is strong enough against all disasters caused by man and nature 

答案：B 

47．The seed bank project was proposed by_____________. 

A.the Norwegian government    B．Norwegian farmers 

C. Spitsbergen residents D. agricultural scientists 

答案：D 

48. The seeds in the vault will be stored___________________. 

A．as samples of world crop varieties 

B. as produc of world plant breeding 

C．for their valuable genetic properties 

D．for their resistance to plant diseases 

答案：A 

49 ． For the seed bank project to be successful ， the most important factor is 

probably______________. 

A．constructing tight airlocks 

B. maintaining high security 

C．keeping freezing temperatures 

D．storing large quantities of seeds 

答案：B 

50．Which of the following statements is true? 

A．The Norwegian vault models after existing seed banks． 

B．The Spitsbergen seed bank is expected to last 10,006 years． 

C. The existing seed banks have potential problems． 

D．The UN financed the Spitsbergen seed bank． 

答案：C 

Passage Five 

Probably the hardest part of setting goals is the first step of actually deciding to take action!The 

first barrier facing most people is the incorrect assumption that goals are only for business 

people． The reality is everyone sets goals mentally throughout the day． There arealways occasions 

where something has to be done at a particular time Or in a particular place．Simple examples

could be getting up at a certain time in order to be at work，or to meet with a friend for a leisure 

activity． 

The beauty of having goals is the uniqueness．of each one to’the goal setter． 

Whether it is personal，financial，business or spiritual，they are all specific to that person 

and their circumstances． 

The most important part initially is to write them down．Having goals mritten down  gives 

youincredible power while helping you to focus on this area． 

Aim for something that will stretch you while remaining achievable．If you achieve 

your goal too easily,it is not high enough to make any significant change in your life and needs to 

be adjusted． On the other hand， if you consistently miss the goals， re-evaluate， and consider setting 

them a little lower as you will only get discouraged and probably give up. The aim is to keep 

growing，and moving into a more satisfactory position for your particular circumstances． 

As you obtain the levels that you have set for yourself,always include a small  reward at 

each point.This might only be a small thing in the early days like a meal out or a weekend 

vacation． 

Remember that these changes will not happen overnight and there will  be a period of 

time when nothing seems to be happening．This is why the goals need to be detailed and as 

specific as possible with a consequence and benefit． 

Allow some time on a daily basis to educate yourself on how to make the necessary 

adjustments in your life．This could include listening to a CD，or reading a book on motivation 

etc． 

A simple method to start with could be one goal in the main areas of life to be achieved in 

one month,six months,twelve months or  five years．Break that down further into a daily,weekly 

and monthly system．Stay focused and disciplined t0 achieve all that you desire． 

51．The simple examples in Paragraph  1 convey the message that___________. 

A．goals are setmostlyforimportantthings 

B. most people know when it is time to set goals 

C．people set goals tO get things done all the time 

D．it is necessary tO set goals occasionally 

答案：C 

52．The charm of having goals is that each goal is______________. 

A. important    B．motivated     C．special D．spiritual 

答案：C 

53．A good goal is one that________________. 

A．keeps growing all the time 

B．is high enough yet attainable 

C. moves one into a satisfactory position 

D．is evaluated from time to time 

答案：B 

54．Goals have to be detailed SO that people____________________. 

A.can know their achievements ateach stage 

B．will eventually reach the levels set for themselves 

C．may get small rewards such as a meal out 

D．can adjust them on various occasions

答案：A 

55．For a goal to be achieved，one has to_____________. 

A.believe in  what he is doing 

B．adapt oneself to new changes 

C．divert from routine sometimes 

D．concentrate on it until it is attained 

答案：D 

Part．Ⅳ Cloze(15 minutes，15 points) 

Directions：In this part,there is a passage with 15 blanks．For each blank there are 4 choices 

marked A,B,C,and D．Choose the best answerfor each blank and mark the corresponding letter 

with a single bar across the square brackets on your machine-scoring ANSWER SHEET． 

A presentation has two important components : what you say and _56_ you deliver it .The

term delivery covers a wide ___57 of features of speaking and eye contact is one of them.

The appropriate use of eye contact _58_from one culture to another .In some cultures,

women are __59__to lower their eyes in most communication __60__; in others ,younger people

must keep their eyes lowered when addressing older people .____61_., in the United

States ,_62___you are addressing an individual, a small group of people ,or a larger audience ,you

are expected to look at them .You do not have to stare _63_ and continuously ; _64___ ,it is

appropriate when speaking to one person to _65____ occasionally .In a small group you should

look around at the different members of the group ._66____when addressing a larger

audience ,you should try to make eye contact with different people around room

It is important to look at the _67___ audience,not just the people in the centre of the room

_68__you will probably have to turn your head and/or your body in order to make proper eye

contact will people _69at the sides of the room ,if you look at the floor or the celing ,you will give

the impression that you are not interested in your audience .A speaker establishes friendly

relationship with audience mainly _70____ eye contact ,and good relationship is to the success of

any speech.
56．A．why  B．whom  C .how  D．where 

答案：C 

57. A．stretch  B．expanse C．extent D. range
答案：D 

58．A．varies    B．alters C．specifies D. differentiates 

答案：A 

59．A．assumed B. proposed C．expected D.desired 

答案：C 

60. A.domains B．settings C．scopes D．environments 

答案：B 

61. A. otherwise B. moreover C. likewise D. however
答案：D 

62 .A .whether B. either C. properly D. desperately
答案：A 

63 .A. constantly B. intensely C. properly D. desperately
答案：A 

64. A. in addition B. for instance C. in fact D. on the other hand
答案：C 

65. A. look away B. look around C. look back D. look over
答案：A 

66. A. even B. and C. thus D. or
答案：B 

67. A. total B. overall C. utter D. entire
答案：D 

68. so    B．yet    C．then    D.but 

答案：A 

69. A.seat B.seated  c．be seated D.being seating 

答案：B 

70．A．upon    B．after    C. through D．until 

答案：C 
Part V Error Detection(10 minutes，5 points) 

略

Paper Two Part I Translation (30minutes，20points) 

Section A 

Directions：Translate the following passage into Chinese, Write your translation on the 

ANSWER SHEET. 

Engineers are developing a new type of Internet connection that could carry so much data so 

quickly it might surprise even Net surfers. This technology would open up a route through which 

data can be sent at speeds thousands of times faster than what’s possible now. If all goes to plan， 

the vast data speeds may soon be available to all. That  might help solve the problem of how to 

handle the enormous growth in Internet traffic. The technology would require some new software 

and fiber-optic links to the PC，but otherwise no change in basic facilities. 

工程师们正在开发一种全新的互联网连接（技术）,它可以在很短的时间内传输大量的数据, 

以至于这很可能给上网冲浪者带来意外惊喜. 这项技术可能打开一条通道, 通过这条通道， 

数据传输速度是现行网络技术传输速度的上千倍。 如果这项开发得以实现， 巨额的传输速度 

很快可以对所有人全面开放使用。 那就可能有助于解决网络通讯传输中数据膨胀,拥挤的难 

题. 这项技术将需要新的软件和光纤与个人电脑的连接。然而在别的方面 ,对于基础设备无 

需做其他改动。 

SectionB

Directions：Translate the following passage into English. Write your translation on the 

ANSWER SHEET. 

当前我国经济发展迅速，能源供应的压力较大，这跟我国当前经济和社会发展 

所处的阶段不无关系。但是，不管我们处于哪个发展阶段，如果消耗能源过多， 

就会因此受到惩罚，面临能源匮乏、环境污染和生态破坏等困境。 

Nowadays with the rapid economic development, there grows enormous pressure in the 

supply of energy sources. Obviously, this situation has solid relationship with the present stage of 

economy and social development in our country. However, no matter which phase we are 

developing at, we will definitely be punished if consuming too much energy, and then face energy 

shortage, pollution and Ecological damage problems afterwards. 
PartII Writing(30 minutes，15 points) 

Directions：In this part, you are to write within 30 minutes a composition of no less than 

150 words on Self-confidence Is a Key to Success. You could follow the clues suggested  by the 

picture given below. Remember to write the composition clearly on the ANSWER SHEET. 

Enrolled in Harvard as a genius, quit from Harvard at the third year as a crazy man, became a 

billionaire in his first thirty… Bill Gates showed such an example of how to make success by 

self-confidence. As far as I concerned, self-confidence is truly the fundamental element of being 

successful for giving people the courage to face difficulties, and for making people to be 

self-made person which is a necessary feature of shrewd business man. 

Giving people the courage to face difficulties is a very significant factor because it happens that 

we do have problems in doing something, maybe big problems and we are feared to keep going, 

we want to quit. However, I just want to say that’s why we need confidence, and why we are 

divided to different part, successful and unsuccessful. 

Equally important is self-confidence could make people to be self-made person. Whenever 

facing difficulties, self-made person could always find a way out, they could always solve 

problems independently, and they could always encourage their teammates and bring them energy. 

Eventually, I would like to use a sentence in the movie Sheepshank Redemption to end my 

statement “you know some birds are not meant to caged, their feathers are too bright.” and I 

really believe it can be a conclusion of my point – Self-confident is a key to success.























